National Testing Agency

Question Paper Name: 06 History 2nd Dec 2019 Shift 1
Subject Name: 06 History
Creation Date: 2019-12-02 15:46:59
Duration: 180
Total Marks: 300
Display Marks: Yes

06 History
Group Number : 1
Group Id: 6154756
Group Maximum Duration : 0
Group Minimum Duration : 180
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 300

PART I General Paper

Section Id : 61547511
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 42
Number of Questionsto be attempted: 42
Section Marks: 100
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 61547536
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 615475771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s the keyv teaching behaviour to make a teacher effective?

(1) Teachers' comments made for the purpose of organizing upcoming teaching process
(2) Use of content or process guestions by teacher
(3) Engagement of students in the learning process

(4) Using students’ 1ideas and contributions



Options:

6154753001, 1
£1547532002. 2
E1547530032 2
154753004, 4

Question Number : 1 Question Id : 615475771 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753001, 1
6154753002, 2
6154753003 3
6154753004, 4

Question Number : 2 Question Id : 615475772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The basic requirements for organizing teaching at reflective level deal with

(1) Systematic and sequential presentation of facts and information by the teacher
(2) Helping explore and explain problems and their solutions by students

(3) Tranzlating and interpreting the facts by the students

(4) (iving concrete facts and action sequences by the teacher

Options:

E154753005 1
6154753006, 2
E154753007. 3
6154753003, 4

Question Number : 2 Question Id : 615475772 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753005 1
6154753006, 2
6154753007, 3
154753008, 4

Question Number : 3 Question Id : 615475773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the factors affecting teaching related to positive learning environment In an

institution :
(1) The extent to which teachers make clear presentation

(1) The scope for sharing and open dizcussions within the classroom and the institution as

such
(i11) Teacher's mastery of the content as reflected 1n answering students’ questions
(1v) Frequent use of positive reinforcers either in the institution or classroom
(v}  Avwailability of teacher and his'her guidance
Choose the correct answer from the options given helow :

(1) (1) and (111)
(2) (11) and (111)
(3) (1v) and (v)
(4) (11) and (1v)

Options:

154753009, 1
6154753010, 2
6154753011, 3
6154753012 4



Question Number : 3 Question Id : 615475773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
6154753009, 1
6154753010, 2

E154753011. 3
E15475301% 4

Question Number : 4 Question Id : 615475774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the following list. which belong to the category of learner-centred approaches?
(1) SWAYAM

(1) Computer-aided instruction

(1) MOOCS

(1v) Quizzes

(vl Buzz-sessions

Select the correct answer from the options given below :

(1) (1) and (111)
(2) (11) and (111)
(3) (1) and (1v)
(4) (111) and (v)

Options:

61547530131
6154753014 2
6154753015 3
6154753016, 4

Question Number : 4 Question Id : 615475774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154753013 1
6154753014 2
6154753015 3
6154753016, 4

Question Number : 5 Question Id : 615475775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the following two sets. set I mentions the evaluation svstem while set II gives thewr
descriptive features. Match the two sets

Set I Set 11
(Evaluation system) (Descriptive features)
(a) Formative evaluation (11 Comparing the students’ performance

with that of others

(b)  Summative evaluation (1) Indicating standards of mastery
(c) Norm-referenced testing (111) Diagnosing students’ problems
(d) Crterion-referenced testing (1v) Identifving scope for improvement

(v) Judging learning standards

Choose the correct answer from the options given below :

(1) (a)-(1v). (b)-(v). (c)-(1). (d)-(11)

(2) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(3) (a)-(11). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)
Options:

51547530171
6154753018 2
E154753019 3
6154752020 4

Question Number : 5 Question Id : 615475775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a)-(1v). (b)-(v). (e)-(1). (d)-(11)

(2) {a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-(11). (b)-(111). (c)-(v). (d)-(1v)

Options:

1547532017 1
£154753018. 2
6154753019, 2
5154753020, 4

Question Number : 6 Question Id : 615475776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequences correctly reflects scientific investigation?

(1) Conceptualization. theorizing. deduced consequences. observation and testing

(2) Testing. ohzervation. conceptualizing. theorizing and deduced conzequences

(3) Theorizing. deducing consequences, testing. chzserving and conceptualizing

(4) Observation. conceptualization. theorizing. deduced consequences and method to

verify them
Options:
61547530211
6154753022 2
6154753023 2
154753024 4

Question Number : 6 Question Id : 615475776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154753021, 1
6154753022, 2

6154753022 3
E154753024, 4

Question Number : 7 Question Id : 615475777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a research problem ‘studyving the effect of Teaching Methods on the Scholastic
Achievement of bovs and girls in terms of thelr socio-economic background’. which can be
dezignated as independent variable?

(1) Scholastic achievement (2) Teaching methods
(3) Gender (4) Soclo-economic background
Options:

61547530251
E154753026. 2
E154753027. 3
E154753028. 4

Question Number : 7 Question Id : 615475777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753025 1
6154753026 2
E154753027. 3
6154753028 4

Question Number : 8 Question Id : 615475778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



When results obtained in a research study can be extended to a group larger than the
sample (outside the context of the study) 1t 1s called

(1) Internal validity (2) Functional relationship
(3) External validity (4) Hypothetical construct
Options:

E154753029. 1
E154753030. 2
E154753021. 3
BE154753032. 4

Question Number : 8 Question Id : 615475778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547530259. 1
E154753020 2
5154753021 3
6154753032 4

Question Number : 9 Question Id : 615475779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a thesis ‘Format and styvles of referencing’ have been inappropriately followed. this 1s an
example of

(1) Technical lapse on the part of researcher

(2) Unethical practice of the researcher

(3) Inability of the researcher to write a thesis

(4) Lack of commitment on the part of researcher to write a thesis
Options:

E154753033. 1
B1547530234 2
5154753035 3
E154753036. 4

Question Number : 9 Question Id : 615475779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
6154753033, 1
6154753034, 2

E154752035 3
6154753036 4

Question Number : 10 Question Id : 615475780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A university department plans to undertake a study wherein attitudes. values and biases of
teachers and students are to be probed with an eve on disclosing their patterns of
adjustment. Which tyvpes of research methods will be considered appropriate in this context?

(1) Experimental method
(11) Case study method
(1)  Descriptive method
(1v)  Ethnographic method

(v) Historical method

Select the correct answer from the options given below :

(1) (1) and (11) (2) (1) and (1i1)
(3) (111) and (v) (4) (1) and (1v)
Options:

51547530371
6154752038 2
6154752039 3
E154753040 4

Question Number : 10 Question Id : 615475780 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (i) 3\ i) (2) (i) 3/ (iid)
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Options:

E154753037. 1
6154753038 2
E154753039. 3
E154753040 4

Question Number : 11 Question Id : 615475781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Dynamics of good classroom communication imnvolves :

(a) Indifference

(h) Motivation

(c) Being organised
(d) Exclusivity

(e) Participation

(f) Gendered views

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (b). (c) and (e) (4) (c). (e) and (D)
Options:

E154753041. 1
E154753042 2
5154753043 3
6154753044 4

Question Number : 11 Question Id : 615475781 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a), (b) X () (2) (b), (c) &R (d)
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Options:

51547530411
6154753042 2
6154752042 3
E154753044, 4

Question Number : 12 Question Id : 615475782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Instructional communication in the distance education mode 1s

(1) unstructured (2)  self-regulatory
(3) informal (4) structured and interactive
Options:

E154753045 1
E154753046 2
E154753047 3
5154753045, 4

Question Number : 12 Question Id : 615475782 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AT ST GERTAT § ST AR AR B 2
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Options:

E154753045 1



E154753046 2
6154753047 3
5154753045, 4

Question Number : 13 Question Id : 615475783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A teacher tells his students — "When vou learn this. vou will be able to carry out vour project’.
What does this communication suggest?

(1) Continued interest (2)  Ambiguous advice
(3) Potential threat (4) Positive reinforcement
Options:

E1547530459 1
6154753050 2
E154753051. 3
E154753052. 4

Question Number : 13 Question Id : 615475783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£154753049 1
6154752050 2
E154753051. 3
E154753052. 4

Question Number : 14 Question Id : 615475784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The principles of effective writing useful for both students and teachers are

(a) Stress on hyperboles
(b) Liberal use of adjectives

(c) Clarity

(d) Conciseness
(e) Correctness
(£) Use of complex sentences

Choose the correct option from the following :

(1) (a). (b) and (c) (2) (b). (c) and (d)
(3) (c). (d) and (e) (4) (d). (e) and ()



Options:

6154753053 1
£154753054 2
E154753055 2
6154753056, 4

Question Number : 14 Question Id : 615475784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a). (b) 3T (c) (2) (). (c) 3 (d)
(3) (c). (d) 3T (e) (4)  (d). (e) 3T (D)
Options:

E154753053. 1
E154753054 2
E154753055 3
5154753056, 4

Question Number : 15 Question Id : 615475785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — One is labelled as Assertion (A) and the other is labelled
as Reason (R) :

Assertion (A) : Communication does not include all human behaviour for exchange of
information
Reasons (R) : Communication involves the use of all five senses

Choose the correct option from the following :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

() Both (A) and (R) are true but (R) 1= not the correct explanation of (4)
(3 (A) 15 true. but (R) 1= false
(4) (A) 1s false. but (R) 1s true

Options:



E154753057. 1
6154753058 2
51547530559 3
E1547532060. 4

Question Number : 15 Question Id : 615475785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

154753057 1
6154753058, 2
6154753059 3
6154753060, 4

Question Number : 16 Question Id : 615475786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two numbers are in the ratio 3:7. If 8 1z added to both the numbers. their ratio becomes 5:9.
The numbers are

(1) 12. 28 (2) 6.14
(3) 15, 35 (4) 24,56
Options:

E154753061. 1
6154753062, 2
E154753063. 3
E154753064, 4

Question Number : 16 Question Id : 615475786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 12,28 (2) 6, 14
(3) 15, 35 (4) 24, 56
Options:

51547530681, 1
E15475306Z2. 2
6154752062, 3
E154753064, 4

Question Number : 17 Question Id : 615475787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The number X in the following series :

3.8,18,38. X ...1s

(1) 78 (2) 80
(3) 76 (4) 74
Options:

E154753065. 1
6154753086, 2
E154753067. 3
6154753068, 4

Question Number : 17 Question Id : 615475787 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fefgs JTFa 0 X B -

3.8, 18,38 X, ...

(1) i8 (2) 80

(3) 76 (4) 74
Options:

E154753065. 1
E154753066. 2
E154753067. 3
E154753068. 4

Question Number : 18 Question Id : 615475788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



If ‘ SOLUTION" 158 RS5KTSHSM' then ‘"CROME’ will be written as

(1) BQ5HL (2) B5HQLH
(3) BQ5HLD (4) BS5LH
Options:

E154753069. 1
6154753070 2
E154753071. 3
BE154753072 4

Question Number : 18 Question Id : 615475788 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
% ‘SOLUTION' % fou ‘RSKTSHAM' a1 ‘CROME’ &1 F=ffiga § & g 9 4 Torar smom ?

(1) BQH/HL (2) B5QLH
(3) BQLLD (4) BS5LH
Options:

6154753069 1
6154752070 2
E154753071. 3
E154753072 4

Question Number : 19 Question Id : 615475789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

If 'a’ 1= inversely proportional to "b” and ‘b’ 1z inversely proportional to ‘¢, then

(1) ‘a’ 1s Inversely proportional to ‘¢ (2) ‘a1z directly proportional to ¢’
(3) ‘a’ 13 constant (4) ‘a’ 1s directly proportional to ‘be’
Options:

E154753073. 1
BE154753074 2
6154753075 3
E154753076. 4

Question Number : 19 Question Id : 615475789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T3 'a’, b I S I ERIGH 2 3R b e Hh AT 2, dl
(1)  ‘a.'c 1 FAHEHIE & (2) ‘a. ¢ FH ATAHEIE 2
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Options:



E154753073. 1
6154753074 2
6154753075 3
E154753076. 4

Question Number : 20 Question Id : 615475790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of Rs. 2.000 yields Rs. 180 with simple interest in nine (9) months. The annual rate of
interest 1s

(1) 9% (2y 10%
(3) 11% (4) 12%
Options:

B154753077. 1
6154753078 2
6154753079 3
E154753080. 4

Question Number : 20 Question Id : 615475790 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

£2000 D39 $t 990 W o UEH T T 150 1 IR =19 UH 241 2| =A7s i aihF = 2 -

(1) 9% (2) 10%
(3) 11% (4) 12%
Options:

B154753077. 1
6154752078 2
6154752079 3
E154753080. 4

Question Number : 21 Question Id : 615475791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A fallacy in which an opponent’s position 1s depicted as being more extreme or unreasonable
than 1s justified by what was actually asserted 1s called

(1) Argumentum ad Baculum (2) The Red Herring
(3) Argumentum ad Hominem (4) Straw Man
Options:

5154753081, 1
6154753082 2
6154752082 3
E154753084, 4

Question Number : 21 Question Id : 615475791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Uy Feara 99y gidare) = feafd = avaa § gieed O Al e @1 SRR 9 ° g9E T
1 d1 33 F41 FEl a1 27

(1)  3TIH=H U3 S (2) 7 Ig g
(3)  ATYH-eH Uz EHm (4) T
Options:

E154753081. 1
E154753082. 2
E154753083. 3
5154753084, 4

Question Number : 22 Question Id : 615475792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The distinction between Savikalpaka (determinate) and Nurvikalpaka (indeterminate) is
made with respect to which of the following pramanas?

(1) Anumana (inference) (2) Pratyvaksa (perception)
(3) Arthapatti (postulation) (4) Upaména (comparison)
Options:

E154753085. 1
E154753086. 2
E154753087. 3
E154753088. 4

Question Number : 22 Question Id : 615475792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frafafigg 1 O g o & gay § gfasets i ffdseas 5 &9 d@ o aar 27
(1) A (2) cEd

(3) A (4) F9HH

Options:

E154753085. 1
6154753086, 2
E154753087. 3
6154753088 4

Question Number : 23 Question Id : 615475793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The term ‘Paksa’ according to classical Indian school of logic refers to which of the following
terms 1n the process of inference?

(1) Major term (2) Undefined term
(3) Minor term (4) Mhddle term
Options:

E154753089. 1
E154753090 2
5154753081 3
61547530382 4

Question Number : 23 Question Id : 615475793 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) dggd 13 (2) AT T2
(3) H (4) T YT
Options:

E154753089. 1
E154753080 2
E154753091. 3
B154753092 4

Question Number : 24 Question Id : 615475794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following refers to an attribute of everv categorical proposition which 1s
determined by whether the proposition affirms or denies class inclusion?

(1) Quality (2) Quantity
(3) Distribution (4) Comparison
Options:

E154753033. 1
6154752094 2
E154753095 3
E154753096. 4

Question Number : 24 Question Id : 615475794 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HeTciEd ¥ ¥ :H-T1 @%ed Tod% oA aarad ) [Gemdl O ddidd 2 1 29 od J F[4iiEa 2an 2
o TehaTe 7 OHESH F1 R FAT § A9E R AT 27
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Options:

6154753093 1
6154753094 2
£154753095 2
6154753096, 4

Question Number : 25 Question Id : 615475795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The product of any three consecutive integers is divisible by 6. Therefore, 3 x 4 x 5 (=60), is
divisible by 6? Which type of reasoning is embodied here?

(1) Deductive Reasoning (2) Inductive Reasoning
(3) Non-verbal Reasoning (4) Abductive Reasoning
Options:

61547530571
6154752098 2
E154753099 3
E154753100 4

Question Number : 25 Question Id : 615475795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
foft 1 STAR Ul T 1 ESA 6 g 9T 2| 314 3 x 4 x 5 (=60). 6 gNI 94 #| 4 fFH

(1) AT T [y iz 5 ok
(3)  Era® a= (4)  AITEAHF 95
Options:

51547530871
61547530388 2
E154753039 3
6154752100 4

Sub-Section Number: 2
Sub-Section 1d: 61547537
Question Shuffling Allowed : Yes

Question Id : 615475796 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuesticon Label | Comprehension



Directions Q. 26-30 : The following table gives the percentage (%) of people having
knowledge of different programming lansuages. Assuming that the total number of people
having knowledge about programming language 1z 12.00.000. answer the gquestions that
follow the table :

Programming Language | % of People having knowledge
e s 15%
C 25%
COBOL 12%
FORTRAN 15%
Java 15%
LISP 10%
Pyvthon 10%

Sub questions

Question Number : 26 Question Id : 615475797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The ratio of the number of people having knowledge about C to that of knowledge about
Java 1s

(1) d=h £y 5:3
(3) 1:1 (4 5H5:92
Options:

E154752101. 1
B154753102 2
5154753103 3
E154753104 4

Question Number : 27 Question Id : 615475798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many people have knowledge about C language?

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154753105. 1
6154753106 2
6154753107 3
E154753108. 4

Question Number : 28 Question Id : 615475799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of people having knowledge about C. Java and COBOL 1s

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547531059. 1
6154753110 2
6154753111 3
6154753112 4

Question Number : 29 Question Id : 615475800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 15 the average percentage (%) of people having knowledge of programming language —
Python. LISP and Java?

(1) 1.04% 2y 11.7%
(3) 26.6% (4) 11.0%
Options:

61547521121
E154753114 2
E154753115 2
5154753116 4

Question Number : 30 Question Id : 615475801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Difference in the number of people having knowledge of C and COBOL programming
languages 1s

(1) 1.20.,000 (2) 1.80,000
(3) 1.44.000 (4) 1.56.000
Options:

E154753117. 1
E154753118. 2
51547531159 3
6154753120 4

Question Id : 615475796 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cuestion Label @ Comprehension
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Fafeigd 9941 =1 391 2y

T Ao Jeqma-Ef SAFAT TEH

TTe] ZATRAT =l W]
C++ 15%
C 25%
FIETA 12%
pariEl 13%
iG] 15%
A AR UE b 10%
T2t 10%

Sub questions

Question Number : 26 Question Id : 615475797 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3:5 (2) b5:3
(3) gl (4) b5:2
Options:

51547531011
6154753102 2
E154752103. 3
E154753104 4

Question Number : 27 Question Id : 615475798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 1.80.000 (2) 3.00.000
(3) 1.56.000 (4) 1.44.000
Options:

E154753105. 1
6154753106 2
6154753107 3
E154753108. 4

Question Number : 28 Question Id : 615475799 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

C. a1 31 FE o de A dTe] SRl il Fd T 7

(1) 4.80.000 (2) 5.04.000
(3) 5.16.000 (4) 6.24.000
Options:

E1547531059. 1
6154753110 2
5154753111 3
6154753112 4

Question Number : 29 Question Id : 615475800 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

2T, U 312 U 17 3T = GO Svd i FEEE @ 3 d 6 S 0d 9iqeddr A 27
(1) 1.04% () 11.7%

(3) 26.6% (4) 11.0%

Options:

61547521121
E154753114 2
E154753115 2
5154753116 4

Question Number : 30 Question Id : 615475801 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 1.20.000 (2) 1.80.000
(3) 1.44.000 (4) 1.56.000
Options:

E154752117. 1
E154753118. 2
51547531159 3
6154753120 4

Sub-Section Number: 3
Sub-Section 1d: 61547538
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 615475802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following storage devices :

(a) Hard disc
(h) CD-ROM
(c) DVD-ROM

Arrange these in ascending order of storage capacity and select the correct option :

(1) (b). (). (a)
(2) (b). (a). (c)
(3) (c). (b). (a)
(4) {a). (c). (b)

Options:

6154753121 1
6154753122 2
6154753123 3
6154753124 4

Question Number : 31 Question Id : 615475802 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

[ | o I ™ g [ i [ i F
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Options:

61547531211
6154753122 2
6154753123 2
6154753124 4

Question Number : 32 Question Id : 615475803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following 1s a ‘Decision Support System’ for assisting people 1n taking best

decizions for their childern’s future?

(1) E-Pathshala

(2) Saransh

(3) Shaala Sidhdhi

(4) SWAYAM PRABHA

Options:
61547531251

E154753126 2
E154753127. 3
6154753128 4

Question Number : 32 Question Id : 615475803 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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oo 9 27
(1) 2SS

(2) T

[

(3) FMAT THIG

(4) TATHTHT

Options:

6154753125 1
6154753126 2
6154753127 3
154753128 4

Question Number : 33 Question Id : 615475804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is NOT suitable in the context of E-mail?

(1) It is a letter sent over a computer network
(2) It can be used to send unsolicited messages
(3) E-mail is snail-mail

(4) E-mail address includes domain name

Options:
6154752129 1



E154753130 2
6154753121 3
6154753132 4

Question Number : 33 Question Id : 615475804 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

eTeiad H H H @1 3-9o & A29 4 3179 F 27
(1) =8 HUge J2deh T 91 70 OF 0 2

(2) I FATEd Houil 1 994 § T @1 O5dl 2
(3) ST O TIfd AT O 2

(4)  T-TA 94 ° ST 99 MG 26T 2

Options:

6154753129 1
154752120 2
£154753121. 2
6154753122 4

Question Number : 34 Question Id : 615475805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT :

ListI Last IT
(E-1nitiatives) (Descriptions)
{a) Vidwan (1)  Repository for full-text thesis. e-books

and journals

(b) Digilocker (1) Education portal to facilitate learning

(¢) Sakshat (i11) Database of leading scientists/
researchers

(d) Shodh Ganga (iv) Platform for 1ssuance and verification

of documents and certificates

Choose the correct answer from the options given below :

(1) (a)-(1). (b)-(11). (e)-(iv). (d)-(11)
(2) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (¢)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(m1). (d)-(1v)

Options:
6154753123 1



E154753134 2
5154753135 3
51547531356, 4

Question Number : 34 Question Id : 615475805 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

T=A-1 %1 GEI-11 = 319 AT Hig
T=i-1
(3-wafvrzFm)
(a) r'a- gl
by TEEE=
(c)  HIEE
(d) Ihg T
= 20 U fTeT 4 a8 S 96

(1) (a)-(1). (b)-(111). (¢)-(v). (d)-(11)
(2) (a)-(111). (b)-(1w), (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(4) (a)-(11). (b)-(1). (c)-(111). (d)-(1v)

Options:

1547532122 1
6154752124 2
6154753135 2
6154753136 4

(1)

{11)

I

(feramo)
q0 e WY e, -g99 AT SHed W
BEL

(ii1) SIS SFIRT /T T SEeE

{(1v)

Question Number : 35 Question Id : 615475806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In computer related activities. what 1s the full form of " WORM'?

(1) Write On Random Memory
(2) Write On Real Memory
(3) Write Once Read Many

(4) Write Once Read Memory

Options:
£154753137. 1



E154753138. 2
51547531359 3
6154753140 4

Question Number : 35 Question Id : 615475806 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FOAZ TA(9d FHEFAT T Soolg 31 30 TF° F1 99 =9 27

(1) 22 19 =0 o

(2)  TE2 AF =9 qgE]
(3) =2 g i ud

(4) 22 79 T OO

Options:

6154753137 1
£154753138. 2
£1547531329 2
6154753140, 4

Question Number : 36 Question Id : 615475807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Government of India has set up the Ministry of Jal Shakti by merging/renaming which

of the following :

(1) Ministry of Water Resources and Ministry of Earth Sciences

(2) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Minmistry of Rural Development

(3) Ministry of Water Resources: Ministry of River Development and Ganga

Rejuvenation: and Ministry of Drinking Water and Sanitation
(4) Ministry of Water Resources

Options:

6154753141 1
6154753142 2
6154753143 3
£154753144 4

Question Number : 36 Question Id : 615475807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
£154753141. 1

E154753142 2
E154753143 3
5154753144 4

Question Number : 37 Question Id : 615475808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify environmental 1ssues which are local in nature :

(11  Depletion of ozone layer
(1) Lake pollution

(111) Soil erosion

(1v) Clhimate change

(v) Water logging

(vi) Solid Waste Management

Select the answer from the options given below :

(1) (11). (11). (v) and (v1) (2)  (m1). (1v). (v) and (v1)
(3) (11). (111), (1v) and (v) (4)  (1). (11). (111) and (1v)
Options:

E154752145. 1
E154753146 2
5154753147 3
6154753145 4

Question Number : 37 Question Id : 615475808 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST T T &0
(11) e TgHv

i) gE
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(v) AR

(vi) B 398 JayH

I 72U T g 0 0 OE 39 9 999 S

(1) (ii). (iii). (v) 3T (v1) (2) (i), (v). (v) 3T (v1)
(3) (ii). (ii1). (iv) 3T (v) (4)  (1). (11). (ii1) 377 (iv)
Options:

51547531451
6154753146 2
6154753147 3
6154752145 4

Question Number : 38 Question Id : 615475809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following UN Conferences/Summit adopted the programme of Action for
Sustainable Development?

(1) Stocltholm Conference (2)  Rio de Janeirec Conference
(3) Johannesburg Summit (4) Ahmedabad Conference
Options:

E1547531459. 1
6154753150 2
6154753151 3
6154753152 4

Question Number : 38 Question Id : 615475809 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frafafas o O fFe oo Ty auieq /gt 90§ auofig fasm SiFE e (9 3 TEEE wH
T2 ae SaeATHz ) 1 ATTE T 7

(1) =M F5 (2) e fz Sfeh ==
(3)  FrEge gmeg (4) 3TEHITETE FI5H
Options:

6154752149 1
E154752150 2
5154753151 3



E154753152 4

Question Number : 39 Question Id : 615475810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following indicates the objective of the United Nations Framework Convention
on Climate Change (UNFCCC)?

(1) To stabilize greenhouse gases concentration in the atmosphere

(2) To prescribe limits on greenhouse gas emizsions for individual countries

(3) To lay down enforcement mechanisms

(4) To prepare guidelines for formulation of Climate Action Plan by member countries
Options:

E154753153. 1
5154753154 2
5154753155 3
6154752156 4

Question Number : 39 Question Id : 615475810 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
eAfafiga § § FH-51 9% U909 Foard Tadq e 99 (3 U9 O O @ 5 F 359 1 i
27
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Options:

6154753153 1
6154753154 2
6154753155 3
6154753156 4

Question Number : 40 Question Id : 615475811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

For encouraging worldwide awareness and action for the protection of our environment.
UNEP focused on the World Environment Dav (2019) on which of the following themes?

(1) Conserve energy (2) Tackle cimate change
(3) Beat air pollution (4) Save water
Options:

51547531571
6154752158 2
6154752159 3
E154753160. 4



Question Number : 40 Question Id : 615475811 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753157. 1
6154753158 2
6154753159 3
6154752160, 4

Question Number : 41 Question Id : 615475812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Ancient Indian University known as the chief centre for advanced and specialized
studies 1n Nvava or Logic was

(1) Jagaddala University (2) Mithila University
(3) Nadia University (4) Valabhi University
Options:

E154753161. 1
6154753162 2
6154753163 3
E154752164. 4

Question Number : 41 Question Id : 615475812 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fafafga § 4 fea w=in g fvafaem =1 3 o oF e 8 3= 3 T gordl 5 g #3
% ¥9 H A1 187

(1) Tee favaiaa=ig (2) Taferen fAvata=g
(3)  Ariean favatEag (4) dFzd favafrem
Options:

E154753161. 1
6154753162 2
6154752162 3
6154752164 4

Question Number : 42 Question Id : 615475813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which 1tems 1n the following constitute the non-conventional learning programmes?

(1)  Tea sommelier

(1) Oriental languages
(1) Spa management
(1v) Museology

(v) Comparative languages

Select the correct answer from the options given below :

(1) (1). (11) and (1v) (2) (11). (111) and (v)
(3) (1), (111) and (1v) (4) (11). (1v) and (v)
Options:

E154753165. 1
6154753166 2
6154752167 3
6154752168 4

Question Number : 42 Question Id : 615475813 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HefIfigd § 4 #H U 98 -TRA AT FER] F g2 a7
(i) @ gmfer
(11) =4 919
(iii) 797 JEEH
(1v) ATed - fagH
(v)  JoHTHE 9

FATeigd el § 8 A7 30 3

(1) (1), (i) 37 (v (2) (i), (ii1) 3 (v)
(3) (1). (ii1) 37 (iv) (4)  (i1). (iv) 31 ()
Options:

£154753165. 1
6154753166 2
E154753167. 3
E154753168. 4

Question Number : 43 Question Id : 615475814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is a non-statutory body?

(1) National Council for Teacher Education (NCTE)
(2) Bar Council of India (BCI)
(3) Rehabilitation Council of India (RCI)
(4) National Assessment and Accreditation Council (NAAC)
Options:
154753169 1
154752170 2
E1E4752171. 2
154753172 4

Question Number : 43 Question Id : 615475814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1)  THE 3T f91em 9fmg (v ©i & 2)

(2) AR Aaaeaal I09E (3 @1 =18)

(3)  OWAE T9EE T (AW W e
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Options:
£154753169. 1
8154753170, 2

6154752171 3
6154752172 4

Question Number : 44 Question Id : 615475815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following has been the basis for introduction of voga 1n teacher training
courses’

(1) National Policy of Education — 1968
(2) National Policy on Education — 1986

(3) Vision of Teacher Education in India : Quality and Regulatory Perspective — 2012
(4) Draft National Education Pohicy — 2019

Options:

6154753173 1

6154753174 2

6154753175 3

154753176 4

Question Number : 44 Question Id : 615475815 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) T e Aid-2019 F1 9

Options:

6154753173 1

154752174 2

E154752175 3
E154753176 4

Question Number : 45 Question Id : 615475816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the ‘NITI Aayog — Three Year Action Agenda Items’ related to the field of Higher
Education :

(1)  Autonomy for top colleges

(i) Reform of the regulatory system

(ii1) Establishing a system of project and scholar-specific research grants
(iv) Promotion of research culture

(v) National Research Foundation

Select correct answer from the options given below :

(1) (1). (1) and (ii1) (2) (1), (11) and (1v)
(3) (111), (iv) and (v) (4) (iv), (1) and (i1)
Options:

E154752177. 1
E154753178 2
61547531759 3
E154753180. 4

Question Number : 45 Question Id : 615475816 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (1), (i1) 37T (iii) (2) (i), (ii1) 3E (iv)
(3) (ii1). (1v) 3T (v) (4) (1), (1) 371 (i)
Options:

E154753177. 1
6154752178 2
6154752179 3
E154753180. 4

Sub-Section Number: 4
Sub-Section Id: 61547539
Question Shuffling Allowed : Yes

Question Id : 615475817 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cesticn Label | Comprehension

For gquestions (46-50) :

Read the passage carefully and answer questions that follow :

Political ‘representation’ nonetheless is the vehicle that enabled the re-introduction of
“democracy’ into the modern, practical political vernacular. The resulting liberal democracy
does not directly descend from the ancient Athenian democracy. Between the eras virtually
nothing existed that approached “democracy” as an actual or named political form and when
it again became a focus of polities and theory, it was wedded to representation — so that what
we call a democracy is, infact, a distinctive kind of democracy, “a representative democracy
While elections and popular pressure surely have political impact, the actions of
representatives are the primary, official mechanism for translating democratic citizenship
into political power. We rely on the representative process to promote political goodness in
democratic societv. But when one imagines the idea of representation these davs. its
association with ethics or goodness does not spring to mind. It is an impersonal process, after
all — a mechanical method by which one entity stands for or re-presents another, politically
required by the need to channel the judgements of millions of citizens into the legally
authoritative hands of a small number of public representatives. or even the sentiments of
thousands into the leadership of single person.

Sub questions

Question Number : 46 Question Id : 615475818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following implies the characteristic of modern political vernacular?

(1) Populist politics (2)  Absence of structure
(3) Ethical dizcourse (4) Representiveness
Options:

E154753181. 1
E154753182 2
5154753183 3
E1547521854. 4

Question Number : 47 Question Id : 615475819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The political representation enabled the emergence of

(1) Athenian democracy (2) Liberal democracy
(3) Actual democracy (4) Theoretical democracy
Options:

5154753185 1
6154752186 2
6154752187, 3
E1547521858. 4

Question Number : 48 Question Id : 615475820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the passage actions of political representatives mamfest

(1) Political will (2) Popular pressure
(3) Political power (4) Self-effacing behaviour
Options:

£154752189. 1
6154752130, 2
E154752191. 3
E154753192. 4

Question Number : 49 Question Id : 615475821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the author. the 1dea of democracy 1s viewed as

(1) Ethical politics (2) Goodness of representation
(3) A representative process (4) Channelising views of a few people
Options:

E1547531593. 1
E154753194 2
E154753195 3
5154753196, 4



Question Number : 50 Question Id : 615475822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the perception of the author with regard to representational democracy?

(1) Legal as well as ethical

(2) Universal participation

(3) Arbitrarily authoritative

(4) Centralizsation of power 1in a few individuals
Options:

61547531971

1547531965 2

61547531939 3

154752200 4

Question Id : 615475817 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

T ;46 H 50
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Sub questions

Question Number : 46 Question Id : 615475818 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1)  AragEd T (2) T F A9E
(3)  ifama fams (4) FaHTEHARAT
Options:

51547531811
6154752182 2
6154752182 3
E154753184. 4



Question Number : 47 Question Id : 615475819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T=HiTa% SlaHE F R0 FeeRd 0 O =60 1 329 23717

(1)  TH F1 Aaa (2) 32N AHad
(3) AVATaE ATFAE (4) Tgifa® AFad
Options:

6154752185 1
E154753186. 2
E154753187. 3
5154753188 4

Question Number : 48 Question Id : 615475820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) TSHiTd® T=aEs (2) THEEHE T ==
(3) TSI WE (4) AH-TI=IH =deEn
Options:

E1547531859. 1
5154753190 2
5154753191 3
E154752132 4

Question Number : 49 Question Id : 615475821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T AR Add F a9 F1 g =9 1 JEr 9 2

(1) g e T (2) wldHTaE $i sr=ar
(3) Sl 9iE (4) F@ AM  [GEH] 1 G990 Y5H FT
Options:

6154752192 1
E154753194 2
E154753195 3
5154753196, 4

Question Number : 50 Question Id : 615475822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4)  F® AR F w9 O F F
Options:
6154753197, 1
6154753198, 2

E154752199 3
6154753200 4

PART 11 History

Section Id : 61547512
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 61547540
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 615475823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the Jaina text Bhagavati Sutra. how many ganarajvas of Kasi1 and Kosala
formed part of the powerful political confederacy of the Eastern India which opposed
Ajatasatru. the King of Magadha?

(1) 9 (2) 10
(3) 18 (4) 36
Options:

BE154753201. 1
B154753202 2
6154753203 3
6154753204 4

Question Number : 51 Question Id : 615475823 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) o (2) 10
(3) 18 (4) 36
Options:

E154753201. 1
BE154753202 2
B154753203. 3
6154753204 4

Question Number : 52 Question Id : 615475824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

At which of the following sites human fossils have been found 1n situ along with Palaeohithic

tools?

(1) Adamegarh (2) Baghor

(3) Didwana (4) Hathnora
Options:

E154753205. 1
E154753206. 2
BE154753207. 3
5154753208, 4

Question Number : 52 Question Id : 615475824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Feteriea 9 o e wer W AFE SiEes Qe S Wy = 5 97

(1)  A=ETE (2) =HER
(3) =AM (4) FIFE
Options:

E154753205. 1
E154753206 2
B154753207. 3
E154753208. 4

Question Number : 53 Question Id : 615475825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which Paleolithic site has vielded the evidence of a set of animal foot-prints along with
Acheulian tools?

(1) Attirampakkam (2) Bhimbetaka
(3) Hunsg1l {4) Paleru
Options:

6154753209 1
E154753210 2
E154753211. 3
E15475321% 4

Question Number : 53 Question Id : 615475825 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
frefefs % 3 fFg o E T W e A w79 TE-T9ET 0% 5g= # A
firem 27

(1)  sIfaaEy (2) wmszE
3 (4) woE
Options:

E154753209. 1
B1547532100 2
6154753211 3
E15475321% 4

Question Number : 54 Question Id : 615475826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the fellowing sites yielded a fossilized human baby skull 1n 20017

(1) Bhimbetka (2) Didwana
(3) Hathnora (4) Oda
Options:

51547532131
6154753214 2
E154753Z215 3
E154753216. 4

Question Number : 54 Question Id : 615475826 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) =R (4) =AsE
Options:

E154753213. 1
E154753214. 2
E154753215 3
BE154753216. 4

Question Number : 55 Question Id : 615475827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The earliest evidence of crop production has been found at which of the following Neolithic

sites of the Indian subcontinent?

(1) Kiligul Muhammad (2) Kot Dijn
(3) Mehi (4) Mehrgarh
Options:

E154753217. 1
6154753218 2
6154753219 3
6154753220 4

Question Number : 55 Question Id : 615475827 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A SUEET F Fetafaa 4 8 B TaumeeiE e W REe 30EA 1 OSiEaE J1E Iy T R

(1) feRfet o1 ATeg (2) =iz =2
(3) = (4) TR
Options:

E154753217. 1
6154753218 2
E154753219. 3
E154753220. 4

Question Number : 56 Question Id : 615475828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following 1s the largest Mesolithic habitation site known in India?

(1) Bagor (2) Chopanimando
(3) Koldihwa (4) Mahgara
Options:

51547532211
E154753222 2
6154753222 3
E154753224. 4

Question Number : 56 Question Id : 615475828 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

f=Tera ® © %19 WG § 74 Ta9Teds SeagTeTe o a9 2 7

1) = (2) =TT
(3)  =ife=Ea (4) TETST
Options:

E154753221.1
6154753222 2
E154753223 3
E154753224. 4

Question Number : 57 Question Id : 615475829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Bead-making workshop has been found at which of the following Harappan sites?

(1) Amn (2) Banawal
(3) Lothal (4) Rangpur
Options:

BE154753225. 1
BE154753226 2
B154r53227. 3
6154753228 4

Question Number : 57 Question Id : 615475829 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547532285 1
6154753226 2
£154753227. 2
E154753228. 4

Question Number : 58 Question Id : 615475830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Early Tamil Literature provides evidence of

(1) Abzence of cazte svatem (2) A complex political and economic system
(3) Growth of Arvan influence (4) A rigid caste system
Options:

61547532291
6154753230 2
E154753231. 3
E154753232. 4

Question Number : 58 Question Id : 615475830 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

PR i o i ol i S T . é‘:‘
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(1) =i v =i et (2) T Hiew THATAH HT AMGE T
(3) T T F Eﬂra (4) ©=% FAT AT ATE
Options:

61547532291
E154753230 2
E154753231. 3
B154753232. 4

Question Number : 59 Question Id : 615475831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which Harappan town was destroved due to recurrent floods?

(1) Harappa (2) Kalhibangan
(3) Kotdipa (4) Mohanjodaro
Options:

E154753233. 1
6154753234 2
6154753235 3
E154753236. 4

Question Number : 59 Question Id : 615475831 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR -AT AHATAT &G % FEO H=ATFG § O i A1 55007 TR T2 7 T 417
(1) e | (2) AT

(3) FI ] (4) HEAAES
Options:

E154753233. 1
E154753234 2
E154753235 3
E154753236. 4

Question Number : 60 Question Id : 615475832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

“History has had assigned to 1t the task of judging the past. of Instructing the present for the

benefit of ages to come”.

Who among the following has so defined history?

(1) Carl Becker (2) G.P. Gooch
(3) Henry Pirenne (4) J.B. Bury
Options:

E154753237. 1
6154753238 2
E154753239. 3
E154753240 4

Question Number : 60 Question Id : 615475832 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154753237. 1
6154753238 2
E154753239. 3
E154753240 4

Question Number : 61 Question Id : 615475833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following deities holds the supreme position in Java?

(1) Brahma (2) Vishnu
(3) Siva (4) Suryva
Options:

E154753241. 1
6154753242 2
6154753243 3
6154753244 4

Question Number : 61 Question Id : 615475833 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) EESl (2) Tao
3 fm 4) =
Options:

51547532411
6154753242 2
6154753243 3
6154753244 4

Question Number : 62 Question Id : 615475834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the Maurvan administration the reporters were called

(1) Nagaraka (2) Prativedaka
(3) Rajuka (4) Yukta
Options:

E154753245. 1
B154753246 2
6154753247 3
6154753248 4

Question Number : 62 Question Id : 615475834 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oI womEE | Tt = ar S v

(1) A (2) wfdaE®
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Options:

5154753245 1
6154753246 2
6154753247 3
E1547532458. 4

Question Number : 63 Question Id : 615475835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Megasthenes Astvnomoi in the Maurayan administration was the

(1) Chief Magistrate (2) General of the army
(3) Incharge of district administration (4) Revenue official
Options:

E1547532459. 1
E1547532500 2
6154753251 3
E154753252 4

Question Number : 63 Question Id : 615475835 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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HITEATH =h 3AF TS OH UMET S HAEAEd 5 =1 917
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Options:



E1547532459. 1
61547532500 2
6154753251 3
6154753252 4

Question Number : 64 Question Id : 615475836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ferishta writes. “His country was well-peopled and the subjects were submissive to his
authority. The rais of Malabar, Cevlon and other countries kept ambassadors at his court
and sent annually rich presents”.

Identify this Vijayanagara ruler :

(1) Hariharal (2) Bukkal
(3) Deva Rava I (4) Deva Raya Il
Options:

BE154753253. 1
6154753254 2
6154753255 3
E154753256. 4

Question Number : 64 Question Id : 615475836 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154753253. 1
6154753254 2
6154753255 3
E154753256. 4

Question Number : 65 Question Id : 615475837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following was not a revenue free land grant?

(1) Suvarghal (2) Altamgha Jagir
(3) Madad-1 ma’ash (4) Punya Udak
Options:

E154753257. 1



E154753258. 2
6154753259 3
6154753260, 4

Question Number : 65 Question Id : 615475837 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  TFEm (2) AoqHEl AFE
(3) HE-T-HE (4) gmE-3TF
Options:

BE154753257. 1
6154753258 2
6154753259 3
6154753260 4

Question Number : 66 Question Id : 615475838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The long Palam Baoli inseription at Delhi in the classical Sanskimt characteristically claims
that owing to the ruler's benign rule’: the God Vishnu. relinquishing all worries sleeps in

peace on the ocean of milk’. About which ruler 1t has been claimed?

(1) Allauddin Ehalp (2) Ghivasuddin Balban
(3) Firuz Shah Tughlag (4) Iltutnmush
Options:

51547532611
E154753262 2
6154753262 3
E154753264. 4

Question Number : 66 Question Id : 615475838 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753261. 1
E154753262. 2
E154753263. 3



E154753264. 4

Question Number : 67 Question Id : 615475839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the Sultan who refused to 1implement Shariat on the advice of a Quazi.

(1) Qutubuddin Aibek (2) Alauddin Khalj
(3 Muhammad Tughlug (4) Bahlol Loda
Options:

E1547535265. 1
B154753266. 2
E154753267. 3
E154753268. 4

Question Number : 67 Question Id : 615475839 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) FATEH UAF (2) FATEEN TEeTAl
(3) T TE (4) =T ARl
Options:

5154753265, 1
E154753266. 2
E154753267. 3
E154753268. 4

Question Number : 68 Question Id : 615475840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Sultans was earlier known as Al1 Gurshasp?

(1) Balban (2) Alauddin Khalj1
(3) Muhammad Tughlag (4) Sikandar Lodi
Options:

6154753269 1
E154753270 2
E154753271. 3
B154r53272 4

Question Number : 68 Question Id : 615475840 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154753269. 1
E154753270 2
6154753271 3
G154753272 4

Question Number : 69 Question Id : 615475841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In whose travelogue the material condition of the people of India has been described as

under :

"The common people lived 1n poverty so great and miserable that the life of the people can be
depicted or accurately described only as the home of stark want and the dwelling place of

bitter woe™

(1) Ibn-Batutah's Kitab ul Rehla’

(2) Francisco Pelsaert’s Remonstrantie’

(3) Francois Bernier's "Travels in the Mogul Empire’

(4) Jean-Baptiste Tavernier's ‘Travels in India’
Options:

BE154753273. 1
6154753274 2
6154753275 3
E154753276. 4

Question Number : 69 Question Id : 615475841 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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BE154753273. 1
6154753274 2
6154753275 3
E154753276. 4

Question Number : 70 Question Id : 615475842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which language did Banarsidas write a very interesting autoblography. the Ardh-
Kathanak in 16417

(1) Awadh (2) Bra
(3) Marathi (4) Sanskrit
Options:

E154753277. 1
6154753278 2
E154753279. 3
E154753280. 4

Question Number : 70 Question Id : 615475842 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 1= 2 ==
(3) = (4) wEFa
Options:

B154753277. 1
B154753278. 2
E154753279 3
6154753280, 4

Question Number : 71 Question Id : 615475843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Concept of Watan-Jagir came into existence towards the end of the reign of Emperor

(1) Humayun (2) Akbar
(3) Jahangir (4) Aurangzeb
Options:

61547532811
E154753282. 2
BE154753283. 3



E154753284. 4

Question Number : 71 Question Id : 615475843 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) Eale| J; (2) T
(3)  FEER (4) =TT
Options:

E154753281. 1
E154753282. 2
B154753283. 3
E154753284. 4

Question Number : 72 Question Id : 615475844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In the Mansabdari system do-aspa. Sih-aspa was introduced by Emperor

(1) Akbar (2) Jahangr
(3) Shahjahan (4) Aurangzeb
Options:

6154753285 1
E154753286. 2
E154753287. 3
E154753288. 4

Question Number : 72 Question Id : 615475844 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

BE154753285. 1
E154753286. 2
6154753287, 3
6154753288 4

Question Number : 73 Question Id : 615475845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who 1s known to have created autonomous domimion comprising Bihar and Bengal in the

early 13% century?

(1) Iwaz Ehaln (2) Muhammad Bakhtyar Ehalp
(3) Ulugh khan (4) Jalaluddin Khalj
Options:

6154753289 1
E154753290 2
E154753291. 3
B154753292 4

Question Number : 73 Question Id : 615475845 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E154753289. 1
6154753230 2
E154753291. 3
E154753292. 4

Question Number : 74 Question Id : 615475846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Farman could be 1ssued by

(1) Princes (2) Princesses
(3) Kings (4) Wazir-1-Mutlags
Options:

BE154753293. 1
6154753294 2
E154753235 3
61547532396, 4

Question Number : 74 Question Id : 615475846 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154753253 1
6154753234 2
61547532395 3
E154753296, 4

Question Number : 75 Question Id : 615475847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which Mughal Emperor 1s known to have celebrated Diwali in Srinagar, Kashmar?

(1) Akbar (2) Jahangr
(3) Shah Jahan (4) Aurangzeb
Options:

E154753297. 1
E154753298. 2
61547532959 3
E154753300. 4

Question Number : 75 Question Id : 615475847 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547532371
6154753298 2
E154753299. 3
E154753300. 4

Question Number : 76 Question Id : 615475848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following Mughal emperors was impressed with the philosophy of Vedanta

and went to meet Jadrup Gosain?

(1) Babur (2) Akbar
(3) Jahangir (4) Shahjahan
Options:

E154753301. 1
B154753302 2
5154753303 3
6154753304 4

Question Number : 76 Question Id : 615475848 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 1L LS (2) L
(3)  FErEiR (4) IE=E
Options:

E154753301. 1
6154753302 2
6154753303 3
E154753304. 4

Question Number : 77 Question Id : 615475849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘The military forces were reorgamzed by the Sultan. The Commander-in-Chief was

henceforth called Amirul Umara and a group of officers. called barbardaran. was created

whose duty 1t was to mobilise troops In time of need. There were. besides. two hundred
Yakka Jawans or Silahdaran whose duty it was to keep charge of the personal arms of the
sultan. Sultan had 4.000 body guards who were called Khasahkhel'.

Identify this Bahmam sultan of Gulbarga :

(1) Alauddin Hasan Bahmam (2) MuhammadlI
(3) Alauddin Mujahid (4) Daud Shah
Options:

6154753305 1
E154753306, 2
E154753307. 3
5154753308, 4



Question Number : 77 Question Id : 615475849 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3) STATIEA qATTRS (4) =T32 7R
Options:

£154753305. 1
6154753306 2
E154753307. 3
E154753308. 4

Question Number : 78 Question Id : 615475850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Star of India’, a non-hereditary order of knighthood for both Europeans and Indians, began

to be awarded from which yvear?

(1) 1833 (2) 18563
(3) 1861 (4) 1883
Options:

E154753309. 1
6154753310 2
E154753311. 3
E154753312 4

Question Number : 78 Question Id : 615475850 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) 1833 (2) 1853
(3) 1861 (4) 1883
Options:

E1547533059. 1



E154753310 2
5154753311 3
6154753312 4

Question Number : 79 Question Id : 615475851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following stated : “I wish to have a different and rival spirit in different
regiments, so that Sikh might fire into Hindoo, Gorkah into either, without any scruple in

case of need.”™

(1) Lord Curzon (2) Lord Lytton
(3) Charles Wood (4) Lord Dalhousie
Options:

E154753313. 1
6154753314 2
E154753315 3
E154753316. 4

Question Number : 79 Question Id : 615475851 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753313. 1
E154753314 2
5154753315 3
5154753316, 4

Question Number : 80 Question Id : 615475852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which play written by Dinbandhu Mitra exposes the exploitation of plantation workers in
Bengal?

(1) Neel Durpan (2) EKamale Eamini
(3) Lilavat1 (4) Sadhabar Ekadasi
Options:

51547533171
6154753318 2
6154753319 3
E154753320 4



Question Number : 80 Question Id : 615475852 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753317. 1
E154753318. 2
E154753319. 3
B154753320 4

Question Number : 81 Question Id : 615475853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which among the following tribes of Palamau (Ranchi) kept aloof from the 1857 uprising?

(1) Cheros and Bogtahs (2) Mundas and Oraons
(3) Santhals and Mundas (4) Binghals and Bhils
Options:

51547533211
6154753322 2
6154753322 3
E154753324. 4

Question Number : 81 Question Id : 615475853 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fmifera # @ ey (a=h) i TR S A 1857 % fage | w9 AE o an

(1) = =1 9w (2) W= 3R WA
(3) =T T g3 (4) ToEe AR i
Options:

E154753321. 1
E154753322 2
B154753323 3
B154r53324. 4

Question Number : 82 Question Id : 615475854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which one of the following statements regarding Modern Indian Musiec. 1s not correct?

(1) The decline of courtly patronage in the nineteenth century, the intervention of a new
urban western educated class that endeavoured to relocate classical music from the
court and the temple to the secular arena the marker of a new cultural setting.

(2) The new cultural setting fundamentally altered the structure and form of classical
music.
(3) The emergence of nation as a commumity suitably redefined and restructured.

nurtured and consumed, Indian classical music.

(4) The newly developed interest in musie. its practice and performance was solely
inspired by nationahst ideals.

Options:

6154753325 1
E154753326 2
6154753327, 2
6154753328 4

Question Number : 82 Question Id : 615475854 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753325 1
6154753326 2
6154753327 3
£154753328. 4

Question Number : 83 Question Id : 615475855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Who wrote the following comments regarding social change 1n the nineteenth century?

“All progress in social liberation tends to be a change from the law of status to the law of

contract, from the restraints of family and caste. customs to the self-imposed restraints of
the free will of the individual”

(1) Kezshub Chandra Sen (2) Swam Vivekanand
(3) Sr1 Narayana Guru (4) Mahadev Govind Ranade
Options:

515475332591
6154753330 2
E154753331. 3
E154753332. 4

Question Number : 83 Question Id : 615475855 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

154753329 1
E154753320 2
6154753321, 2
6154753332 4

Question Number : 84 Question Id : 615475856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year did the Bengal Police for the first time, use the method of finger printing for

crime detection and proof?

(1) 1860 (2) 1898
(3) 1904 (4) 1903
Options:

6154753332 1
E154753334 2
E154753335 3
E1547533356. 4

Question Number : 84 Question Id : 615475856 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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(1) 1860 (2) 1898
(3) 1904 (4) 1903
Options:

E154753333. 1
6154753334 2
E154753335 3
61547533356 4

Question Number : 85 Question Id : 615475857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From Among the following Satyagrahas, which was not led by Mahatma Gandhi?

(1) Satyagrah in Kheda (2) BSatyagrah against Rowlatt Bills
(3) Mahad sweet water tank satvagraha (4) Vaykom Satyagraha

Options:

61547533371
6154753328 2
6154753339 2
6154753340, 4

Question Number : 85 Question Id : 615475857 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547533371
E154753338. 2
E154753339. 3
5154753340 4

Question Number : 86 Question Id : 615475858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Among the following delegates at the Congress Session at Karachi (1931) who did not oppose
the Gandhi-Irwin Pact?

(1) Jamna Das Mehta (2) Swami Govindanad
{3) Yusuf Meherah (4) Purshotamdas Thakurdas
Options:

E154753341. 1
6154753342 2
E154753342 3
6154753344 4

Question Number : 86 Question Id : 615475858 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547533411
6154753342 2
E154753343 3
E154753344. 4

Question Number : 87 Question Id : 615475859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who commented 1n 1913, the following words?

“No Indian could have started the Indian National Congress... If an Indian had come
forward to start such a movement embracing all India, the officials in India would not have
allowed the movement to come into existence. If the founder of the congress had not been a
ereat Englishman. such was the distrust of political agitation in those days that the

authorities would have at once found some way or the other to suppress the movement”.

Select correct Option :

(1) Pherozshah M. Mehta (2) Bipin Chandra Pal
(3 Bal Gangadhar Tilak (4) Gopal KErishna Gokhale
Options:

E154753345 1
6154753346 2
6154753347 3



E1547533458. 4

Question Number : 87 Question Id : 615475859 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£154753345. 1
6154753348 2
E154753347. 3
E1547533458. 4

Question Number : 88 Question Id : 615475860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which philosopher of history said “all history 1s contemporary history™?

(1) Gilambattista Vico (2) Beneditto Croce
(3) Auguste Combte (4) Oswald Spengler
Options:

5154753345 1
6154753350 2
E154753351. 3
E154753352. 4

Question Number : 88 Question Id : 615475860 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753349 1
£154753350 2
£154753351. 2
6154753352, 4

Question Number : 89 Question Id : 615475861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From among the following statements regarding the precautions a historian must observe.

which one 18 not correct?

(1) He should not introduce 1n the text what 1s not said by the author.

(2) Facts obtained by direct examination of the document must not be confused with the

results obtained by reasoning.

(3) If the reasoning leaves any doubt. conclusion should be drawn by constructive

1magination.
(4) The historian should not invent what 1s not already existing.

Options:

6154753353 1
6154753354 2
£154753355 2
E154753356 4

Question Number : 89 Question Id : 615475861 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

154753353 1
£154753354 2
6154753355 2
6154753356 4

Question Number : 90 Question Id : 615475862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following functions of external criticism (Heuristic operations) in historical

writing, 15 not correct?

(1) To establish the authorship of the document

(2) To carry out interpretative criticism

(3) To determine the place of the document

(4) To fix the time of the document, the exact date. month and year of writing
Options:

E154753357. 1
E154753358. 2
5154753359 3
5154753360, 4

Question Number : 90 Question Id : 615475862 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154753357 1
61547533568 2
6154753359 3
6154753360 4

Question Number : 91 Question Id : 615475863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to epigraphic records who among the following kings of ancient India were
accomplished musicians?

(a) Kharavela

(b) Harshavardhana

(c) Rudradaman

(d) Samudragupta

Choose the correct option :

(1) (a) and (c)
(2) (a) and (d)
(3) (b) and (c)

(4) (c) and (d)
Options:
61547533611
6154753362 2
E1547E3362 2
6154753364 4

Question Number : 91 Question Id : 615475863 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATHATTF T4 % ATEE WA 96A % g § # FeE T Fee w47
(@) @A

r r
{h} r-q":lu

(c) TR

(d) HAZTH

&l Tohed g

(1) (a) FF (¢)
(2) (a) ¥ ()
(3)  (b) # ()

4  (¢) F (d)



Options:

6154753361 1
154753362 2
E154753363 2
6154753364 4

Question Number : 92 Question Id : 615475864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are true about the stupa?

(a) The Buddha had enjoined the erection of stupas over his ashes
(b) The custom of rearing stupas was pre-Buddhist
(c) The Jainas also erected this form of memorial in early times

(d) The extant Dhamekha stupa of Sarnath 1s one of the oldest

Choose the correct option :

(1) (a) and (b) only
(2) (a). (b) and (c) only
(3) (a). (b) and (d) only

(4) {(a). (b). (e¢) and (d)

Options:

6154753365 1
6154753366, 2
E154753367. 2
154753368, 4

Question Number : 92 Question Id : 615475864 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4) (). (b). (c) ¥ (d)

Options:

6154753365 1
6154753366, 2
E154753367. 2
154753368, 4

Question Number : 93 Question Id : 615475865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following trbutaries of the celebrated river Sindhu were located In

Afchanistan?
(a) Harrud
(b) Kubha

(c) EKrummu

(d) Vitasta

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a). (b) and (c) only
(4) {(b). (c) and (d) only

Options:

6154753369 1
6154753370 2
6154753371, 3
6154753372 4

Question Number : 93 Question Id : 615475865 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547533649 1
6154753370, 2
6154753371, 2
6154753372 4

Question Number : 94 Question Id : 615475866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Megasthenes’ original record about India 1s lost. Some of his memories are preserved In the
accounts of which of the following?

(a) Arrman

(b) Diodoras

(c) Heliodoras

(d) Herodotus

Choose the correct option :

(1) (a). (b) and (d) only
(2) (b). (c) and (d) only
(3) (a) and (d) only
(4) (a) and (b) only

Options:
£1547532373. 1

E154753374 2
6154753375 3
B154753376. 4

Question Number : 94 Question Id : 615475866 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753373 1
6154753374 2
6154753375 3
E154753376 4

Question Number : 95 Question Id : 615475867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In the Aithobe inscription of Chalukya King Pulakesin II, its composer Ravikirti describes
himself as an equal of

(a) Banabhatta

(b) Bhasa

(c) Bharawn

(d) Kalidasa

Choose the correct option :

(1) (a). (b) and (c) only
(2) (b). (c) and (d) only
(3) (b) and (d) only
(4) (c) and (d) only

Options:

6154753377 1
£154753378. 2
E154753379 2
6154753380, 4

Question Number : 95 Question Id : 615475867 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) qaH
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(1) 3= (a). (b) 3T (c)
(2)  Faw (b), (c) 3T (d)
(3) e (b) @ (d)

(4) e (c) AT (d)

Options:

6154753377 1
£154753378. 2
E154753379 2
6154753380, 4

Question Number : 96 Question Id : 615475868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following rulers of India had been devotees of Siva?
(a) Harshavardhana
(b) Bhoja Paramara
(c) Govindachandra Gahadavala

(d) Chandragupta II

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (¢) only
(3) (a). (b) and (c) only

(4) (b). (c) and (d) only



Options:

61547533581 1
£154753382 2
E154753383 2
6154753384 4

Question Number : 96 Question Id : 615475868 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(h) VT TR
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& , Fa
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(1)  =ad (a) 3T (b)
(2)  a (b) #HE (c)
(3) = (a). (b) T (c)

(4) a4 (b). () =T (d)

Options:

6154753381 1
£154753382 2
6154753383, 2
6154753384 4

Question Number : 97 Question Id : 615475869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following Puranas included Buddha 1n the list of Avataras of Vishnu?

(a) Agni
(b) Bhagavata
(c) Matsya

(d) Vayu

Choose the correct option :

(1)  (a) and (b) only

(2)  (c) and (d) only

(3) (a). (b) and (c) only
(4)  (a). (b). (c). (d)

Options:

154753385 1
E154753386. 2
6154753387, 2
6154753388, 4

Question Number : 97 Question Id : 615475869 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

6154753385 1
£154753386. 2
E154753387. 2
6154753388, 4

Question Number : 98 Question Id : 615475870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ashokan Rock Edicts containing fourteen proclamations have been found in South India

from which of the following sites?
(a) Erragudi (A.P.)

(b) Rajula-Mandagiri (A.P.)
(c) Maski (Karnataka)

(d) Sannati (Karnataka)

Choose the correct option :

(1) (a) and (b)
(2) (c) and (d)
(3) (a) and (c)

(4) (a) and (d)
Options:
6154753389 1
6154752330, 2
6154753391 3
6154753392 4

Question Number : 98 Question Id : 615475870 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) (a) 3T (b)
2) (o) 3 (d)
(3)  (a) # (c)

(4)  (a) ¥ (@)

Options:

6154753389 1
6154753390 2
6154753391, 3
6154753392 4

Question Number : 99 Question Id : 615475871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements for Sultan Alauddin Khalj are correct?

(a) He knew how to say his prayers. but he never fasted
(b) He prohibited drinking of intoxicants
(c) He encouraged nobles to marry as much as they wished

(d} He agreed with Ulema to run the state as per Shariat

Choose the correct option :

(1) (a). (b) and (c) only
(2) (a) and (b) only
(3) (a). (c) and (d) only

(4) (b) and (d) only

Options:



E154753393. 1
6154753394 2
6154753385 3
E1547533396. 4

Question Number : 99 Question Id : 615475871 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) CERRn e AW T4 F T F 90 39 ¥ AT 97

(1) === (a), (b) 3 (c)
(2) a4 (a) A (b)
(3)  =ad (a), (c) FE (d)

(4)  Fa= (b) #T (d)

Options:

6154753393 1
6154753394 2
6154753395 3
E154753396 4

Question Number : 100 Question Id : 615475872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following works were produced by Amir Khusrau?

(a) Hasht Bihisht
(b) Matla ul Anwar
(c) Khazain-ul Futuh

(d) Nuh Sipithir

Select the correct answer from the options given below :

(1) (a). (b) and (c) only
(2) (b) and (d) only
{3) (a). (b). (c). (d)

(4) (a) and (d) only
Options:
6154753397 1
6154753398 2
61547533499 3
5154753400, 4

Question Number : 100 Question Id : 615475872 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E154753397. 1
6154753398 2
51547533959 3
6154753400, 4

Question Number : 101 Question Id : 615475873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following were the painters of Shahjahan?

(a) Muhammad Nadir Samargandi
(b) Abdus Samad
(e) Mir Hashim

(d) Mir Saiyid Al

Select the correct answers from the options given below :

(1) (b) and (d) only
(2) (a). (b) and (d) only
(3) (b) and (c) only
(4) (a) and (c) only

Options:

6154753401, 1
6154753402, 2
6154753403 3
£154753404 4

Question Number : 101 Question Id : 615475873 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

A (b) 3R (d)
A (a), (b) ¥R (d)
A (b) 1 (c)

4 (a) 3T (c)

51547534011
6154753402 2
6154752402 3
E154753404, 4

Question Number : 102 Question Id : 615475874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following features of Jami Mosgque of Gulbarga are correct?

(a)
ib)
ic)

(d)

The Indian and Iranian elements are so intertwined 1n 1t as to be indistinguishable
The whole structure 1= a vast pillared hall covered by a roof
There 1s open courtvard in it

The entire roof 1s covered by small domes arranged in seven rows

Select the correct option :

(1)
(2)
(3)

(4)

(b) and (c) only
(a). (b) and (d) only
(a) and (d) only

(c) and (d) only



Options:

6154753405 1
6154753406, 2
£154753407. 2
6154753408, 4

Question Number : 102 Question Id : 615475874 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (b) #17 ()
(2)  =ae (). (b) #T (d)
(3) A (a) N (d)

(4)  Fa (c) AW (d)

Options:

6154753405 1
6154753406, 2
6154753407 2
£154753408. 4

Question Number : 103 Question Id : 615475875 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following pairs are correctly matched?

Administrative Umit Officer
(a) Suba — Tarafdar
(b) Pargana — Sardar
(c) Sarkar &0 Faujdar
(d) Watan —  Watandar

Select the correct answer from the options given below :

(1)  (a) and (c) only
(2) (a). (b) and (c) only
(3) (b, (c) and (d) only
(4)  (a) and (d) only

Options:

6154753409 1
£154753410 2
6154755411, 2
6154753412 4

Question Number : 103 Question Id : 615475875 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547534059. 1
6154753410 2
5154753411 3
E15475341% 4

Question Number : 104 Question Id : 615475876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following statements are correct with regard to the Mughal expedition into
Balkh and Badakhshan?

(1) There was the proclaimed desire on the part of the Mughal emperors to recover their
ancestral lands

(11) Shahjahan wanted to pumish Nazr Muhammad the ruler of Balkh and Badakhshan.

who had an eve on Kabul

(1) Shahjahan wanted to enthrone Prince Dara Shukoh as an independent ruler of
Balkh

(tv)  Shahjahan desired to assign Badakhshan in Jagir to Prince Aurangzeb

Select the answer from the options given below :

(1) (1). (11) and (11) only
(2) (11), (111) and (1v) only
(3) (1) and (1) only

(4) (1) and (111) only

Options:

6154753413 1
6154753414 2
6154753415 3
6154753416 4

Question Number : 104 Question Id : 615475876 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) a4 (1), (i) 7 (i)
(2)  FAd (i), (i) T (iv)
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(4)  Fad (i) T (i)

Options:

6154753413 1
6154753414 2
6154753415 3
6154753416 4

Question Number : 105 Question Id : 615475877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Select the correct statements from the following :

(a) Akbar’s minters were careful to maintain a high guality coinage in each of the three
metals
(b) Gold was nearly pure. silver never dropped below 96 percent pure and copper coins

remained of high purity
(c) There was a free or open minting system

(d) In 1595. there were total 96 mints

Select the correct option :

(1) (a). (b) and (d) only
(2) (a). (b) and (c) only
(3) (a) and (c) only

(4) (b). (¢) and (d) only

Options:
£154753417. 1



E154753418. 2
51547534159 3
5154753420 4

Question Number : 105 Question Id : 615475877 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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(4)  Fad (b). (¢) T (d)
Options:
6154753417, 1
6154753418, 2
6154753419, 3
6154753420, 4

Question Number : 106 Question Id : 615475878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct?

(a) Qasim Khan was chosen to be the superintendent of the building of Agra Fort because
of his reputation as a ‘military engineer as well as builder

(b) He was later made governor of Agra Fort

(e) Father Monserrate comments that he was raised to that exalted digmity from the

humble position of a sapper’

(d) In 1583 Akbar appointed eight people to look after the roval buildings jointly one of
whom was Qasim Khan

Select the correct answer from the options given below :

(1) {a). (c) and (d) only
(2) {(a). (b) and (c) only
(3) (b) and (d) only
(4) (a) and (d) only

Options:

6154753421 1
6154753422 2
£154753423 2
£154753424 4

Question Number : 106 Question Id : 615475878 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753421 1
6154753422 2
6154753423 3
£154753424 4

Question Number : 107 Question Id : 615475879 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements regarding the impact of Western ideas on India. are
correct?

(a) English Education opened the flood-gates of Western i1deas, which almost over-
whelmed them at the beginning

(b) The acceptance of Western ideas that came through the medium of Enghsh was
synonyvmous to the acceptance of the British rule

(c) It immediately aroused political consciousness and resistance against political
authority

(d) It infused a spirit of rationalism that led to the revolt of mind against the tyranny of
dogma and traditional authorities. beliefs and customs

Select the correct option :

(1) (a). (b) and (c) only
(2) (a) and (d) only
(3) (b) and (c) only
(4) (b). (¢) and (d) only

Options:

6154755425 1
6154753426, 2
6154753427 3
6154753428, 4

Question Number : 107 Question 1d : 615475879 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



YA W = el o u9E o ged g e Y 8 ° 6 91 56 R
(a) IS fore 9 urvEres e % s g g B fAeE a0 3 stfingg = o)
(b) TS AT F TSN T TS T G 6 T e e # T & wmEr o)

(c) =9 7d TEHIA® B F (GETE TIHIaE a1 3 iy # 5. E

(d) =FF THaE T 9ET R OATE T T R msuH! g i PR S e 5,
favarai = vl = faers amfE FbeE g

ffeEa 9 9 o7 fFFeg =1 =99 i

(1) =ad (a), (b) T (c)
(2) A (a) 3 (d)
3)  F9 ()7 ()
4 F=4 (b), (©)F (d)

Options:

6154753425 1
6154753426 2
£154753427. 2
6154753428, 4

Question Number : 108 Question Id : 615475880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following were the correct main objectives of the Theosophical Society?

(a) To form a Universal Brotherhood of man

(b) To promote the study of ancient religions. philosophies and sciences

(c) To proclaim the supremacy of Christian doctrines

(d) To investigate the laws of nature and develop the divine powers latent 1n man

Choose the correct option:

(1) (a). (b) and (d) only
(2)  (b). (c) and (d) only
(3) (c) and (d) only

(4) (a). (c¢) and (d) only

Options:



E1547534259. 1
6154753430 2
5154753431 3
E15475343% 4

Question Number : 108 Question Id : 615475880 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

R T o A I 5 B e e -y = g T
fEHlHli'h'de HETEZT °H =T 3791 H HHI=hd H 8 =il qr1

(a)  HFEAl & T faga "gea $ w5

[

(b) U =Hi, WA AR FEEE W g@E 24

(¢)  zAmE sH-Togml =i gai=dr =t sgamm|

(d) W % T S S A gt Sdl e e e

(1) 7F (a). () =7 (d)
(2) % b). () # R (d)
(3)  fa® (c) % (d)

4 TF (). (© AR (@)
Options:
6154753429 1
6154753430 2
E15475324321 =
6154752432 4

Question Number : 109 Question Id : 615475881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements are correct?

(a)

(b)
(c)
(d)

Premchand was among the first to portray the Dalits as independent and
recognizable characters, both as part of the poor and with their own particular
problems

Premchand’s literary works do not reflect political and social movements of his times
Premchand’s novels reflect a surrender to 1deologies of traditional Hindu religion

One of the Premchand’s last and most famous stories ‘Kafan' was first published 1n
Urdu 1n 1935 and later appeared in Hindi in 1936. and thus reflect his synecretic
personality

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a) and (d) only
(a). (b) and (c) only
(b) and (c) only
(b). (c) and (d) only

5154753433 1
6154753434 2
6154753435 3
E154753436. 4

Question Number : 109 Question Id : 615475881 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fafra A& F9 @ T A A 7

(a)  UHEE 39 URel oigel 0 ¥ 9 Taer forl w0 Wil % v g % w9 9 H#{R Igh e aeemet
= WY = A FEeayul I & =9 5 39

(b)  THEE i HiET B T T % A AR AN AT Wi T |

(c) THYE  SUAHE TRUNE fRg 96 % foEn o uid Jew e E

(d)  THEg F AfA AN TETGE TEeay0 FAE] H # UF T G9999 35 4 1935 § oA @ ° E

=8

1936 § THIEE ?jﬁ':‘s-r' off 317 30 THR T8 TAF THETFEN Afwed q-aﬁm 21

o =
g&l 1&hed JHT

(1) & (a) #7 (d)
@ %= (a), (b) #T (o)
(3) == (b) FF (o)
@ e (b), (©) I (D)

Options:

£154753433 1
£154753434 2
6154755425 2
6154753436, 4

Question Number : 110 Question Id : 615475882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Among the following statements which are correct?

(a) Historical method 1s a complex process involving search for sources of information, 1ts
critical evaluation. synthesis and exposition

(b) Reasoning should be done if the basis of the proposition 1s merely conjuncture

(c) The cult of ‘document’ especially the “official document” owes 1tz development largely
to Leopold Von Ranke

(d) Oswald Spengler's philosophy of history opens with a vehement attack on the
European periodization of history into ancient, medieval and modern

Choose the correct answer from the options given below :

(1) {(a). (b) and (c) only
(2) (a). (¢) and (d) only
(3) (b). (¢) and (d) only
(4) (a) and (b) only

Options:

6154753437 1
6154753438 2
6154753439 3
6154753440 4

Question Number : 110 Question Id : 615475882 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FeAteEa 0 O 9T F949 95 27

(a) UlgEEF fatg oF Aea w2, EH o= o '@ F @, IHE SEEATEE g,
T 31 Tiaae St 7|
(b) e Uiasity 1 YR *Fad O9F 2 7 9% S S =90

() IR F U, T =9 O o T faem w atieme: S e 99 T o a2

(d) — TRETES TR F SOEE TIE, IOEE H TEE, BT SR YT e g sEtashem
T 3 YRR W YW A 2

=g 5§ "8 3T g

(1) =& (a). (b) 3T (¢)
(2) A (a). (c) R (d)
(3) A (b). () 377 (d)

(4) A (a) 3T (b)

Options:

6154752427 1
6154753438, 2
6154753439 3
6154753440 4

Question Number : 111 Question Id : 615475883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements regarding Ishwarchandra Vidvasagar are correct?

(a) The cardinal principle of his efforts toward social reform and intellectual awakening

was humanism
(b) He did not believe in the efficacy of reinterpreting the age-old scrptures
(c) He made untirnng efforts for the spread of modern scientific vernacular education

(d) He worked for social reform based on human equality

Choose the correct answer from the options given below :

(1) {(a). (c) and (d) only
(2) (a) and (b) only
(3) (b). (c) and (d) only

(4) (b) and (d) only

Options:

6154753441 1
6154753442 2
6154753443 3
£154753444 4

Question Number : 111 Question Id : 615475883 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



SvaiEE [IEErR & S ° (efeiiad 9 8 9 i 8 BT el 5 7

(@)  FEIH GUR T dttgE Srn 5 fou 3 e w5 geyd fagra e o)

(b) & WHEH W % el i T9EeTeRal § favard Ta e 9]
()  SerH AT S 29rs A TEE w fou s v e

(d) 3= 9FE TEHEAT W AT GETaE 99R 6 e w5
fefanaa fawea 2 @ 981 fawes 94 ¢

(1) ¥ (a), (¢) 377 (d)
(2)  FE (a) T (b)
3) =& (b), (¢) F (d)
(4)  Fa9 (b) FW ()

Options:

6154753441 1
6154753442 2
£154753443 2
6154753444 4

Question Number : 112 Question Id : 615475884 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statements regarding the promotion of science during the Colonial

India. are correct?

(a) Nineteenth century Indian Science was ‘Eurocentric’, centripetal and hegemonistic
discipline
(b) For Mahendra Lal Sarkar, political nationalism had no meaning without science as

1ts guiding sprit

(c) The state 1nvolvement made colomal science philanthropic and promoting Indian
interests
(d) Colomial Science was inextricably woven into the whole fabric of colomialism

Choose the correct answer from the options given below :

(1)  (a) and (b) only
(2)  (b), (c) and (d) only
(3)  (c)and (d) only
(4) (a). (b) and (d) only

Options:

6154753445 1
£154753446 2
6154753447 2
6154753448 4

Question Number : 112 Question Id ;: 615475884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



AtETF A d R F Ta s AR e iEa s I S I O HE TR 27
(a)  SeiEdl o 0 wndE s e e wea, Fetaed g ageEd o)

(b)  HEg T TN o (A0 TASAITF AR G5 IR AFIEsE T 6w A9 6 9

(¢) 159 1 HeErdar 4 AHAEeR f=EE H = Al AR anae Ea i seE e s

(d) AR fAEE SeHETEE F 9 A F Y A = H 5 59T 9

= fau o Tl 85§ 9F T F 99T i

(1)  Fa (a) 3 (b)
2 F=9 (b), (c) 1 (d)
(3)  FAF (o) 3N (d)
(4 FI9 (), (b) 3 (d)

Options:

6154753445 1
6154753446 2
6154753447 2
£154753448 4

Question Number : 113 Question Id : 615475885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-I (Tirthankara) with List-II (Respective Cognisance [Lanchchhanal)

ListI List IT
(a) Adinatha (1) Bull
(b) Mallinatha (1) Pitcher
(c) Mahavira (m) Lion
(d} Parsvanatha (1v) Serpent

Select correct option :

(1) (a)-(). (b)-(i11). (c)-(w). (d)-(iv)
(2  (a)-(). (b)-(). (c)-(m). (d)-(v)
(3)  (a)-(1), (b)-(2). (c)-(v). (d)-(11)
(4 (a)-(v). (b)-(11). (c)-(1), (d)-(1)

Options:
£1547534459 1



E154753450 2
5154753451 3
5154753452 4

Question Number : 113 Question Id : 615475885 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T (Fefe) 1 g=1-11 (fafee @3 (Sre)) & =@y geicy Sifao

=11 -1
(a) A=Y @) TS
(b) AfETY () e
(c) HETE® (iii) I
(d) TwETY (iv) #=d

(1) (a)-(1), (b)-(111), (c)-(11), (d)-(1v)
(2) (a)-(1). (b)-(11). (¢)-(111). (d)-(1v)
(3)  (2)-11). (0)-(). (c)-(iv), (d)-(iil)
(4) (a)-(1v). (b)-(11). (e)-(11), (d)-(1)

Options:

6154753449 1
£154753450 2
6154753451, 2
6154753452 4

Question Number : 114 Question Id ;: 615475886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Matech List-1 (Harappan Burial System) with List-II (Site)

ListI Last IT
(a) Coffin-bural (11 Harappa
(b) Extended-burial (1) Lothal
(¢) Joint bural (111) Mohenjodaro
(d) Urn-burial (1v) Sanauli

Select correct option :

(1) (@-wv). (b)-(). (e)-(). (d)-(111)
(2)  (a)-(w. (b)-(). (c)-Qv). (d)-(11)
(3} (@-. (b)-(v). (©)-(1). (d)-(111)
4 (a)-Q. (b)-(v). (e)-(m). (d)-(11)

Options:

6154753453 1
6154753454 2
6154753455 2
£154753456 4

Question Number : 114 Question Id : 615475886 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=l-1 (F3v0A wara =aen ) gei-11 (79 ) & oY HFHFFFI HITT

T=l-1 g=-11
(a) ATEA-IETEH (1) FSo
(b) TerEfE-—vETaH (i) =
(c) TIF-TETH (iil) AEAES
(d) =FEA-FEEH (iv) T

Hr= f2m 1o et 4 © T fawes 24

(1) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(2) (a)-(11), (b)-(1). (c)-(1v). (d)-(111)
(3) (@)-(1). (b)-(av). (c)-(1). (d)-(111)
(4) ()-(1). (b)-(1v). (c)-(111). (d)-(11)

Options:

6154753453 1
6154753454 2
6154753455 3
6154753456 4

Question Number : 115 Question Id : 615475887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List-I (Text) with List-II (Subject-Matter)

List I List IT
(a) Bhuvanakosa (1) Architecture
(b) Brihajjataka (1) Astrologv
(c) Dasarupaka (1) Dramaturgy
(d) Manasara (iv) Geography

Select correct option :

() (a)-(1). (b)-(111), (c)-(iv) and (d)-(1)
(2)  (a)-(v), (b)-(1), (e)-(111) and (d)-(1)
(3 (@-v). (b)-(). (e)-(1) and (d)-(111)
(4) (a)-(mm), (b)-(1). (e)-(11) and (d)-(v)



Options:

6154753457 1
£154753458. 2
5154753459 2
6154753460, 4

Question Number : 115 Question Id : 615475887 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=11 (7)) =1 G110 (v -=w) % @19 gafea Fifw

I Cili|
(a) wEAFT () AT
(b) FETIEE (i) IS
(c) <TIHIH (1) =T Fer
(d) #==ER (iv) e

It T2 o faeal § o 981 fG%e9 =1 =299 Fifaw

(1) (a)-(i). (b)-(ii), (e)-({v). (d)-(1)
(2) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(3 (a)-av). (b)-(11). (c)-Q). (d)-(111)
(4) (a)-(111). (b)-(2). (c)-(11). (d)-(1v)

Options:

6154753457 1

6154753458 2

E154753459 3
6154752460 4

Question Number : 116 Question Id : 615475888 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with Last-IT

(a)

(b)
(c)
(d)

Select the correct answer from the options :

(1)
(2)
(3)
(4

Options:

Tast I
(Terms)

Alwan

Baradam
Kashi Eanm
Trabeate

(a)-(11). (b)-(1v). ()-(11), (d)-()
(a)-(1v). (b)-(m1). (c)-(1). (d)-(11)
(a)-(1). (b)-(1). (e)-(111), (d)-(1v)
(a)-(1). (b)-(11). ()-(iv). (d)-(1i1)

6154752461 1
E154753462. 2
E154753463. 3
E154r53464, 4

(1)

(11)
(111)

(1v)

List IT
(Meanmng)

Construction on a post and lintel

principle

Title mosaic

a pillared gallery
a pillared pavilion

Question Number : 116 Question Id : 615475888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



i 1 11T
(7r2) (214)
(a) TEHA (1) TF =Y T oA WA AT
(b) =W (i) =T AEE
(c) =Tl FHI (ili) TF I ST ()
(@ zhEe (iv) T T HeT (FfaterE)

faseai 4 9 =78 S A

(1)  (a)-(m). (b)-(v). (c)-(11), (d)-(1)
(2)  (@)-(w). (b)-(1). (c)-(1). (d)-(11)
(3)  (a)-(). (b)-(1). (e)-(111), (d)-(1v)
(4 (@)-Q). (b)-G1). (¢)-(0v). (d)-(111)

Options:

6154753461 1
£154753462. 2
6154753463, 2
6154753464 4

Question Number : 117 Question Id : 615475889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who produced before Akbar the memoirs of Firdus Makani (Babur) which he had rendered

into Persian from Turki. and received great praise?

(1) Abdur Rahim Khan 1 Khana {2) Abul Fazl
(3) Badaom (4) Faiz
Options:

E154753465. 1
6154753466 2
E154753467. 3
6154752468 4

Question Number : 117 Question Id : 615475889 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



foErate T (STeT) % SN S R @ ERE] § e o R § 8 FRE ST % dme TR e

(1) 5 %\ °F @ (2) EH A
(3)  =EEAl (4) FH
Options:

E154753465. 1
6154753466 2
E154753467. 3
E154753468. 4

Question Number : 118 Question Id : 615475890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following pairs 1s not correctly matched?

Author Book
(1) Inayvat Khan — Shahjahan Nama
(2) Bhimsen — Nuskha 1 Dilkusha
(3) Muhammad Kazim — Alameir Nama
(4) Muhammad Waris — Bahari Ajam

Options:
154752489 1

E154753470 2
BE154753471 3
B154r53472 4

Question Number : 118 Question 1d : 615475890 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fenia 7 @ %1 =1 779 gAfad 7= 27
I:-H. !Elr Fr .qdq: r: ¥
(1) =99F T@F —  TIEAE AT
2 HmE — JHE-TR
(3) WFTE W — A

(4) HEE TFIE — WEN-U-TSH



Options:

6154753469 1
6154753470 2
£154753471. 2
6154753472, 4

Question Number : 119 Question Id : 615475891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match Last-I with Last-IT

List I List 1T
(Philosophers of History) (Works)
{(a) Michel Foucault (1) Historian's Craft
(b) Edward Said (1) The Archaeology of Knowledge
(¢) Havden White (m1) Culture and Imperialism
(dy Marc Bloc (1v) Metahistory

Select correct option :

(1) (a)-(1v). (b)-(11). (c)-(1). (d)-(111)
(2) (a)-(11). (b)-(111), (c)-(1v), (d)-(1)
(3)  (a)-(v). (b)-(1). (¢)-(11). (d)-(ii1)
(4) (a)-(11), (b)-(v). (e)-(1), (d)-(11)
Options:

6154753473, 1

6154753474, 2

E154753475 3
E154753476. 4

Question Number : 119 Question Id : 615475891 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FA1-1 1 -1 5 Fafera 1

T =111
(sfrmma-aeiamsh) ()
(a) TTEFA TH i) Te=rfoms wm
(b) =TS T (i) 7 AT AT A
() 7= == (i) Fral T AT
(d) | = (iv) Heme=

(1) (a)-(iv), (b)-(12), (c)-(1). (d)-(i11)
(2)  (a)-@). (b)-(111). (c)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(1). (e)-(11), (d)-(111)
(4 (a)-(i1). (b)-(1v). (c)-({). (d)-(11)

Options:

6154753473, 1

154753474 2

6154752475 3
E154753476. 4

Question Number : 120 Question Id : 615475892 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-IT and select the correct answer from the options given below :

Last I Last IT
(Authors) (Works)

(a) R.G. Collingwood (1)  Colonialism Tradition and Reform : An
Analysis of Gandhi's  political
discourse

(b) Bhikhu Parekh (1) The Idea of History

(¢) Dipesh Chakravarthy (1) On History

(d) Eric Hobsbawm (iv) The Calling of History

Choose the correct answer from the options given below :

(1) (a)-(1m1). (b)-(11). (c)-(1) and (d)-(v)
(2) (a)-(1v). (b)-(11), (c)-(1) and (d)-(11)
(3) (a)-(11). (b)-(1). (c)-(v) and (d)-(111)
(4) (a)-(11). (b)-(1v). (¢)-(1) and (d)-(m1)

Options:

E1547532477. 1

154753478 2

BE154753479 3
5154753480 4

Question Number : 120 Question 1d : 615475892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



wp=it-1 = Hei-11 5 geferd = 371 fHeatea e | 9 98 390 =4 ¢

THI-1 gH1-1I
(7rg) ()
(a) HR.AFiTEE (1)  FeAt-Efess, 2o vz foed: v urfataa
(b) g i (i) =7 A== A@7F B
(¢) Zrmer =hadi (i) =1
(d) TUHF Fiedaig (iv) = i ATF 7

(1) (a)-(u). (b)-(1). (c)-(1). (d)-(iv)
(2)  (a)-(v). (b)-(11). (¢)-(2). (d)-(11)
3 (a)-(). 0)-O). (©)-Gv). (d)-(1)
(4) (a)-(11). (b)-(v). (e)-(2). (d)-(111)

Options:

6154753477 1

6154753478 2

6154753479 3
E154753480 4

Question Number : 121 Question Id : 615475893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-T with List-IT

List I Last IT
(Dramatists) (Plays)

(a) Dharmvir Bharti (1) Agra Bazar

(b) Vyai Tendulkar (1) Hayavadan

(¢) Girish Karnad (1) Andhayug

(d) Habib Tanvir (iv) Ghasi Ram Kotwal

Choose the correct answer from options given below :

(1)  (a)-(v), (b)-(). (c)-(11). (d)-(111)
(2) (a)-(11). (b)-(111). (c)-(1). (d)-(v)
(3)  (a)-(i1). (b)-(i). (c)-(1v). (d)-(ii1)

(4) (a)-(1), (b)-(iv). (¢)-(11), (d)-(1)
Options:

6154752481 1

6154753482 2

6154753453 3

6154753454 4

Question Number : 121 Question Id : 615475893 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



w9 FT 60§ e i

(a)
(b)
(c)
(d)

TH1-1
GIGEEDS

(1)
(2)
(3)
(4)

Options:

(a)-(1v). (b)-(1). (¢)-(11). (d)-(111)
(a)-(). (b)-(i11), (e)-(1). (d)-(1v)
(a)-(11). (b)-(1). (c)-(av). (d)-(111)
(a)-(111). (b)-(1v). (c)-(11). (d)-(1)

E154753481. 1
6154753482 2
5154753483 3
E154753484. 4

~

g=1-11
(=F)

(1) HATE 919

(1) B9
(111)  TETE

(iv) ETERH Fiaar

Question Number : 122 Question Id : 615475894 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s not correctly matched?

(1)
(2)
(3)
(4)

Options:

Surendra Nath Banerjee
Valentine Chirol
Subhash Chandra Bose
Shahnawaz Khan

6154752485 1
E154753486. 2
E154753487. 3
5154753488, 4

A Nation in Making

The Legacy of the Lokmanyva

The Indian Struggle — 1935-1942
My memories of INA and 1ts Netan

Question Number : 122 Question Id : 615475894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



(1) Ty s e = AR

(2) == B — 2 R o S A

) Wﬂﬁ;am — Eﬁ:ﬂ'—lﬁﬂﬁ—m}j—lmg

0¥ AR — TS FEETH ATF A0, TS 37 A
Options:

5154753485 1
E154753486. 2
6154753487, 3
E154753488. 4

Question Number : 123 Question Id : 615475895 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following events in the chronological order :

(a) Alexander leaves India

(b) Burning of Persepolis

(c) Alexander completes conquests of Eastern Iran beyond the Hindu Kush
(d) Partition of Alexander’s empire at Triparadizus

Select correct option :

(1) (c). (b). (a). (d)

(2) (b). (c). (d). (a)
(3) (c). (b). (d). (a)
(4) (b). (c). (a). (d)
Options:

E154753489. 1
6154753430 2
E154753491. 3
E154753492 4

Question Number : 123 Question Id : 615475895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FetertEa geT1sT 1 Fesg O =aieag Hiran
(a)  TO%=< %1 974 O =399 SH|

(b)y  TEaIRerE =1 gEA|

() Toe g g % m gl s T

(d) ToF= % omr # FlEes § Ty
T faFes =4

(1) (c). (b). (a). (d)
(2) (b). (c). (d). (a)
(3) (c). (b). (d). (a)
(4) (b). (c). (a). (d)
Options:
6154753459 1
65154753490, 2
65154753491 3
6154753492 4

Question Number : 124 Question Id : 615475896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following Greek kings fisuring in the XIIT™ Rock Edict of Ashoka 1n the order in

which they are mentioned.
(a) Alexander
(b) Antiochus
(c) Antigonus

(d) Ptolemy

Select correct option :

(1) (a). (c). (b) and (d)
(2)  (b), (c). (d) and (a)
(3) (b). (d). (c) and (a)

(4) (c). (d). (b) and (a)
Options:

6154753493 1
6154753494 2
6154753495 =
6154753496, 4

Question Number : 124 Question Id : 615475896 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



STIF = W ST 9T I T T T8 FE OH 35 B 7, 6 #E ° safee Fir)

(@) ToF=

(b) TS

(c) ECaEee)
(d)  ZreHE

(1 (@) (). (b) ¥ (d)
2) (). (0. (d) 37 (a)
(3  (b). (d). (c) 317 (a)

(4) (€). (d). (b) #HT (a)

Options:

6154753493 1
6154753494 2
6154753495 3
6154753496 4

Question Number : 125 Question 1d : 615475897 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following kingdoms of the Dakshinapatha. conquered by Samudragupta. in the

order in which they are mentioned in the Allahabad Pillar inscription :

(a) Devarashtra
(b) Kanchi

(c) Pishtapur
(d) Vengi

Select correct option :

(1) (b). (a). (d) and (c)
(2) (a). (c). (b) and (d)
(3) (). (b). (d) and (a)

(4) (). (a). (b) and (d)

Options:



BE154753497. 1
6154753488 2
5154753495 3
6154753500, 4

Question Number : 125 Question Id : 615475897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TATEENE R W 4 Sffigd SHgH g [ataa Sy o T S FENER g,

(a) =g
(b) ==
(c) Brept
(dy A

(1) (b). (a). (d) 74 (c)
(2)  (a). (c). (b) T3 (d)
(3)  (c). (b). (d) T (a)

(4) (c), (a). (b) T (d)

Options:

6154753497 1
6154753498 2
6154753499 3
£154753500, 4

Question Number : 126 Question Id : 615475898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following Chishti Sufi Shaikhs in chronological sequence :

(a) Nizamuddin Auliyva
(b) Moinuddin Chishti
(e) Salim Chishti

(d) Gesudaraz

Select correct option :

(1) (@), (b). (d) and (c)
(2) (b). (a). (d) and (c)
(3) (d). (a). (c) and (b)
(4) (a). (¢). (b) and (d)

Options:

154753501 1
£154753502. 2
6154753503, 2
6154753504 4

Question Number : 126 Question Id : 615475898 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

(a) FeHER st

(c) T Tavdl
(@  THEE

(1)  (a). (). (d) = (c)
(2) (D). (a). (d) 3 (c)
3)  (d). (a). (c) 311 (b)

@  (a). (). (b) 7 (d)

Options:



E154753501. 1
6154753502 2
6154753503 3
6154753504 4

Question Number : 127 Question Id : 615475899 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following travellers’ visit to India 1n chronological sequence :
(a) Sidi Al1 Rais

(b) Al-Berum

(c) William Finch

(d) Ibn Battuta

Choose the correct answer from the options given below :

(1) (b). (a). (c). (d)
(2) (d). (a). (b). (c)
(3) (b). (d). (a). (c)

(4) (a). (b). (d). (c)

Options:
61547535051

E154753506 2
E154753507. 3
5154753508, 4

Question Number : 127 Question Id : 615475899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g | e Tt i R EEAE T o

(a)  ToE1 o1 =H

(b) -

(c) EIGRER |
(d) SesIq
it fae 4 & T8 37 9 ¢

(1) (b). (a). (c). (d)
(2)  (d). (@. d).
(3)  (b). (d). (a). ()
(4 (a). (b).(d). (e

Options:

6154753505 1
6154753506, 2
E154753507. 2
E154753508, 4

Question Number : 128 Question Id : 615475900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following monuments in chronological sequence :

(a) Akbar’s tomb —  Sikandara

(b) Gol Gumbad —  Byapur

(c) Shaikh Salim Chistis tomb —  Fatehpur Siknm
(d) Charminar —  Hyderabad

Select the correct option :

D) (d). (). B). (a)
2  (a). (). (). (b)
3 (@ ®). ©. @

(4) (c). (d). (a). (b)



Options:

6154753509 1
6154753510 2
£154753511. 2
6154753512 4

Question Number : 128 Question Id : 615475900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(AT THWER 1 FIThAAN Ta T &

(a) AT T Hhal — fa=e
(b) T T ~

(c) @ Ted favdl 1 9Fa - ®daT Hiw

-~

(d) FJEHAET - FETEE

(1) (d). (c). (b). (a)
(2) (a). (d). (c). (b)
(3) (d). (b). (c). (a)

(4) (c). (d). (a). (b)

Options:

6154753509 1
6154753510 2
£154753511. 2
6154753512 4

Question Number : 129 Question Id : 615475901 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following Mughal emperors in chronological sequence :
(a) Farrukhsiyar

(b) Jahander Shah

(c) Bahadur Shah

(d) Muhammad Shah

Select the correct option :

(1)  (d) (@) (b). ()
(2)  (b). (¢). (d). (a)
(3)  (c). (b). (a). (d)

(4)  (a). (c). (d). (b)
Options:

154753513 1
£154753514. 2
6154753515 2
6154753516 4

Question Number : 129 Question Id : 615475901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT TTeT SITERT 1 FITRATTER T iedd =

ﬁqﬁﬁﬂﬁfﬂm?ﬁ

(1) (d). (a). (b). (c)
(2) (b). (c). (d). (a)
(3) (2. (b). (a). (d)
(4) (a). (e). (d). (b)

Options:
6154753513 1



E154753514 2
6154753515 3
5154753516, 4

Question Number : 130 Question Id : 615475902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following 1n correct chronological order :

(a) The Bengal Criminal Law Amendment Act
(b) The Bengal Suppression of Terrorist outrages Act
(c) The Bengal Emergency Powers Ordinances

(d) The Bengal Criminal Law Amendment Ordinance

Choose the correct option :

(1) (d). (b). (a). (c)
(2) (c). (d). (b). (a)
(3) (d). (e). (b). (a)

4) (D). (). (a). ()
Options:

61547535171
6154753518 2
6154753519 3
6154753520 4

Question Number : 130 Question Id : 615475902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR =1 T8 FIAFAHAN gEERgd

(a)  TE I AT e SAtaEE
(b) T ATTRATS! AT FHA AT AIH
(c) T AT IR AT

(d) =T AT i geee s
fenifa 1 7 =4 fampeg =7

(1) (d). (b). (a). (c)
(2)  (e). (d). (b). (a)
(3) (d). (c). (b). (a)
(4) (b). (d). (a), (c)

Options:

6154753517 1
6154753518 2
6154753519 3
£154753520. 4

Question Number : 131 Question Id : 615475903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Chronologically arrange following social legislations passed by the British :

(a) Regulation XVII that declared sati to be 1llegal in Bengal Presidency
{(b) Hindu Widow's Remarmage Act XV
(c) Act V, which made slavery illegal in India

(d) Regulation III. which declared infanticide to be a murder

Choose the correct option from those given below :

(1) (a). (c). (d) and (b)
(2) (b). (c). (a) and (d)
(3) (c). (d). (a) and (b)

(4) (d). (a). (c) and (b)

Options:
6154753521 1



E154753522 2
B154753523 3
5154753524 4

Question Number : 131 Question Id : 615475903 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ST T WA FETAEd AEiaF GO H FewEET SHaed i

(a)  TarFEs-XVII (Fewm-XVIL), 5@ gr s Teis-~d1 | @6t & 34y gied = 7=
b) o faoa widaw afaFm-XV (f7s fT=m f@fe owe-Xv)

(c)  aAfatEm-V (vw=-V), 50+ g vva § s/-uan #1339 3= 7

(d)  TaFEEa-II0 (Treem-100), 590 g - 99 = vF =01 9iiaa T =)

fr= fzu et | | wE e g

(1) (a). (c). (d) #T (b)
(2) (b). (c). (a) 108 (d)
(3) (c). (d). (a) AT (b)

(4)  (d). (a). (c) AT (b)
Options:

6154753521, 1
6154753522, 2
6154753523, 3
6154753524, 4

Question Number : 132 Question Id : 615475904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the establishment of the following political associations chronologically :

(a) Madras Mahajan Sabha
(b) Bombay Presidency Assoclation
(c) Poona Sarvajamk Sabha

(d) Bombay Association

Choose the correct option :

(1) (b). (c). (d). (a)
(2) (c). (a). (b). (d)
3) (). (). (). (b)

(4) (d). (c). (a). (b)
Options:
61547535251
6154753526 2
E1547E3527 2
6154753528 4

Question Number : 132 Question Id : 615475904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frfeafiaa T=-ifa® Tt =t 39 0T F FewaEn SFatead i

(a)  TEE HESA T
(b) =T IS TATGuTE
(€) T HESHE T

(d) = uEiEue

Pﬁ CEao ﬂ_‘ﬁﬂ :

1) (b). (). (d). ()
(2) (o). (a). (b). (d)
@) (o). (d). (a). (b)
(4) (@ (0. (a). (b)

Options:



E154753525. 1
6154753526 2
B154r53527. 3
6154753528 4

Question Number : 133 Question 1d : 615475905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements labelled as Assertion (A) and the other as Reason (R)

Assertion (A): The oldest paintings of Ajanta are datable to the second and first

centuries B.C.

Eeason (R) : Chronologically the paintings of cave No. 1 and 2 are the last in the series

and pertain to the Post-Gupta period

In the context of the above two statements which of the following 1s correct?

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true. but (R) 1s false

(4) (A) 1s false. but (R) 1= true

Options:

61547535249 1
6154753520, 2
6154753521, 2
6154753532 4

Question Number : 133 Question Id : 615475905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



=1 71 oA fou e &, T5E § v i AiaweE (A) 31 g5 w0 @ (R) FE T A

ATTFIA (A) ST % UG T 1 e Tgd i 3N 09 Ides] H gd " A 2
% (R) : FEFAEET A H. | 37 2 % foa T W% F vd e e # 2

(1)  (A) 3 (R) 3F1 @& 7 au1 (A) it @& == (R) 2
(2) (A 3 (R) = T8 F 991 (A) 1 =791 = (R) T4 2
(3)  (A) =7l &, A (R) T4 B

(4) (A TA 7, = (R) TE R

Options:

6154753529 1
6154753530 2
6154753531 3
6154753532 4

Question Number : 134 Question Id : 615475906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one labelled as Assertion (A) and the other as Reason (R)

Assertion (A): Rajasekhara wrote a drama entitled Balaramavana

Reason (R) : He was the teacher of Pratihara king Rambhadra
In the context of the above two statements which of the following 1s correct?

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:
£154753533 1
6154753554 2



E154753535 3
51547535356, 4

Question Number : 134 Question Id : 615475906 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Hr= 21 srfwe fao e 2, foem @ o = i (A) 3T 35 F 95 (R) T T A

HFIT (A) - TG F AATHE I U AEE T 9|
T (R) : I7 gfaer T THEg % O 9|

I ST AT % Hed § Fefaigd 9 9 Sia-mn w8 2 e

(1)  (A) 317 (R) =41 981 & 797 (A) i 921 == (R) 7

@ (A3 R) T wE E qur Q) F 78 == ®) T 2

{3} fél-'!:ﬁﬁ Tr'", I::I'i--h-i _{Ellh—m[,j j'-—_lf|

4 (A 7TeE 2, S (R) TE 2

Options:

61547535351
6154753524 2
6154753535 3
6154753536 4

Question Number : 135 Question 1d : 615475907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Given below are two statements — one labelled as Assertion (A) and the other as Reason (R)

Assertion (A) : From a Nalanda Copper-Plate we learn that the Pala Devapala donated

five wvillages for the upkeep of Bauddha Vihara at Nalanda bult by

Balaputradeva. the king of Suvarnadvipa and Yavabhum

Reasons (R) : It 1= a unique testimony to the long Intercourse maintained by the

Sailendras with their motherland

In the context of the above two statements which of the following 1s correct?

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

BE154753537. 1
6154753538 2
E154753539 3
E154753540. 4

Question Number : 135 Question Id : 615475907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S =1 e fEn T E, e O v F afqwes (A) IR 35 F T (R) T T A

AfaFaA (A) : qrefal AT H FH A1 Terdl & O 9T U9 299 4 gAvgn F =i = e g
TR § A Sig =EA % TEeaE U O e w5 2

TF (R) 77 Teieg TS g ST AT F Yo" H9E OF H9d TEH W UF Sl med

=

I 1 HYAT  Hed H g § 8 wH-81 75 2 7

1) (A) R R) 7 FE E T (A) Fi 7 == (R)
(3) (AT 7, =i (R) T 2

(4) (A) A 7, = (R) 991 E

Options:

6154753537 1
6154753538 2
£154753539 2
£154753540. 4

Question Number : 136 Question Id : 615475908 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one labelled as Assertion (A) and the other labelled as

Reason (R)

Assertion (A) : Nadir Shah’s occupation of Dihli and massacre of its people; carried men's
memories 340 years back to a similar calamity at the hands of Timur.

Reason (R) : Nadir Shah. on the other hand, did not annex the trans-Indus provinces

and the whole of Afghamstan.

In the context of the above two statements; which of the following 1s correct?

(1)
(2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(A) 18 true but (R) 1s false

(A) 1= false but (R) 1s true

£154753541. 1
6154753542 2
E154753543 3
E154753544 4

Question Number : 136 Question Id : 615475908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



= 21 e fou o 2, fomd @ v w0 afiweE (A) SR g i a (R) A T 2

ATaFYA (A) : 1fer =E 1 31 T FE S SR T B A AM J A 340 T TR 49 F

41 SH TR 1 TR 1 9 S

% (R) : ZAA A, T WE 7 6y R F WidT SR T AR H A6 w3 a1l

T =FT FUAT F T2 § Feieangd § § FiA-E 95 2 7

(1) (A) 3 (R) 341 @& 2 997 (A) i @& =2 R) 2

=
Ll

T8

(2)  (A) 3R (R) IF1 =2 3, 96 (A) F1 =5 = R)

(3) (A) T=1 2 il (R) =14 =

(4) (A) T4 7, =R (R) TR R

Options:

6154753541 1
6154753542 2
6154753543 3
6154753544 4

Question Number : 137 Question Id : 615475909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(Given below are two statements — one labelled as Assertion (A) and the other labelled as
Reason (R)

Assertion (A):  No other leader succeeded so 1n arousing and mobilizing the depressed

classes for their own development as Dr. Ambedkar, for he gave them a
sense of their own 1dentity.

Reason (R) : Dr. Ambedkar's whole being rose in articulate protest against a social
order which condemned him and his people to a life of social ostracism.
material deprivation and psychological injury and insult.

In the context of the above two statements, which of the following is correct?

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1z not the correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 13 false but (R) 1s true

Options:

5154753545 1
6154753546 2
6154753547 3
6154753548 4

Question Number : 137 Question Id : 615475909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

H= =1 FoF U T E, O © U AT (A) HW 5 H 96 (R) A T A

TFAZ FH T TFS AA1 61 FAH R T S Afa-aE weE

T (R) : I, ST F1 AU Shed U UHT WIS STEET % e fad & ig @Eiid o,
AT 3117 39HE F1 A ghen 41|

TEIE TH1 FUA F TeY § Fefengd § 8 #E-91 T8 27

(1)  (A) 31 (R) o1 9281 7 91 (A) =i a1 =971 (R) 7

(2)  (A) 277 (R) =1 I8 &, =5 (A) Fi T2 = (R) 75 2

(3) (A) -'H?ﬁ ;-:":-'.. 'E:‘Ir-{'v—l (R) T4 ?}]

(4) (A) TeTE 2, FFA (R) T8 2



Options:

6154753545 1
£154753546 2
£154753547 2
5154753548, 4

Question Number : 138 Question Id : 615475910 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two statements — one labelled as Assertion (A) and the other as Reason (R)
Assertion (A):  “History” refers to both a subject matter and thought process.

Reason (R) : Thought process of historical thinking involves raising questions,
marshalling evidence, discerning patterns in evidence, and critiqguing the

narratives written by others.
In the context of the above statements. which of the following 1s correct?

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2} Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 12 true but (R) 1s false

(4) (A) 1s false but (R) 1s true
Options:

£1547535459 1

6154753550 2

6154753551 2

154753552 4

Question Number : 138 Question 1d : 615475910 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e 71 FA fam T E, e T v F afyweE (A) @R w T (R) A R

At (A) - “=faema” 1 H2Y e Hn = uien g 2|
T (R) : UfeTia Taam i fo=m uiwan § w9 0, JE SET, |18 6 SR H O] S

ST T BT F Hed | HefeiEd 8§ O A g6 27

(1)  (A) 317 (R) 341 =21 & a0 (A) F1 77 =m=n R) 7
@ (@) ¥R R) I WA E, A Q) Fowd = ®) TR
(3)  (A) = 7, oF (R) 7o 2

4y (A Ted 7, 9 (R) TR 2

Options:

6154753549 1
6154753550 2
£154753551. 2
6154753552, 4

Question Number : 139 Question Id : 615475911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given below are two statements — one labelled as Assertion (A) and the other labelled as
Reason (R)

Assertion (A):  Pride vamity. sympathy, antipathy, personal rivalry. political differences.
social distinctions. religious disputes or patrotic favour could induce
certain individuals to distort original records.

Eeaszon (R) : There remains a grey zone between scholarship and political statements,
which perhaps affects historians more than others, because. they have
been used from time 1mmemorial to legitimate claims of politicians.

In the context of the above statements which of the following 1s correct?

(1) Both (A) and (R) are true and (R) 18 the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (4)
(3) (A) 1s true but (R) 1= false

(4) (A) 1s false but (R) 1s true



Options:

6154753553 1
6154753554 2
£154753555 2
6154753556, 4

Question Number : 139 Question Id : 615475911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) (A=A 2, 9 (R) oW 2
4) (A TeE =, @A (R) 99 21

Options:

6154753553 1
6154753554 2
6154753555, 2
6154753556, 4

Question Number : 140 Question Id : 615475912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one labelled as Assertion (A) and the other labelled as
Reason (R)

Assertion (A):  From about 1715 Bengali merchants preferred to opt for English carmage
service and utilize Enelish vessels for their freight traffic.

Reason (R) : In entrusting their goods to a private Enghsh ship, they were in fact
entrusting goods to the company. whose privileges private Enghshman

enjoyved.
In the context of the above two statements which of the following 1s correct?

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are true but (R) 13 not the correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

61547535571
&154753558. 2
6154753559 3
6154753560, 4

Question Number : 140 Question 1d : 615475912 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

6154753557 1
£154753558 2
£154753559 2
154753560, 4

Sub-Section Number: 2
Sub-Section 1d: 61547541
Question Shuffling Allowed : Yes

Question Id : 615475913 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehiension

Read the following passage and answer the guestions that follow.

A different kind of historian was Barani. whose work. written in 1357. 1= a history of the
Delhi Sultanate from the point where Minha) Siraj ended his narrative. Baram 1= different
from his peers. especially because he takes up aspects of life other than dynastic and
political. such as economic. social. intellectual and religious. He 1= also novel in that he
applies to events a distinct historical theory of his own. This theory was premised on a
triangular relationship between despotic monarchy, the established nobility and upstarts
from the non-aristocratic classes.

Sub questions

Question Number : 141 Question Id : 615475914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Barani's purpose of writing Tarikh-i-Firuz Shahi was to -

(1) protect Shariat

(2) please Muhammad bin Tughlagq

(3) please Firuz Shah Tughlug

(4) highlight the events during Iltutmish-Sikandar Lod1 period

Options:
61547535611

E154753562. 2
E154753563. 3
5154753564 4

Question Number : 142 Question Id : 615475915 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Name the book of Baram which 1s a history of the Delli Sultanate from the point where
Minhaj Siraj ended his book

(1) Tajul Ma'asir (2) Tarikh- 1 Firuzshah
(3) Fathiva Ibriva (4) Tabagat-1-Mahmud Shahi

Options:



E154753565. 1
6154753566, 2
E154753567. 3
E154753568. 4

Question Number : 143 Question Id : 615475916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the title of Minhaj Siraj’s book?

(1) Tajul Maasir (2) Fatawa1Jahadar
(3) Tabagat 1 Nasin (4) Tarikh 1 Mahmud Shah
Options:

E154753569. 1
E154753570 2
6154753571 3
G154753572 4

Question Number : 144 Question 1d : 615475917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s correct about Barani's writing style?

(1) Baram has written dynastic history

(2) Barani 1s accurate 1n providing dates of political events

(3) Barani's account ends at| Muhammad bin Tughlag’s reign

(4) Barani believed in critical analysis of socioeconomic and intellectual history
Options:

BE154753573. 1
B154753574 2
6154753575 3
E154753576. 4

Question Number : 145 Question Id : 615475918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which are the elements of triangular relationship described by Baram?

(1) Despotic monarchy: established nobility; upstarts from the non-aristocratic classes.
(2) Despotic monarchy: new nobility; upstarts from the non-aristocratic classes.

(3) Despotic monarchy: established nobility; people from aristocratic classes.

(4) Despotic monarchy; new nobility: groups from non-aristocratic classes.

Options:

E154753577. 1
E154753578. 2
61547535759 3
5154753580, 4



Question Id : 615475913 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 141 Question Id ;: 615475914 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ST 1 ATCF-U— {60 T o =1 Sgava 4 -
(1) THTEE T 7T A
(2) e ToA e @91 FT
(3) (RS TR o6 Tl G H]
(4)  FeaAmET-TaEE A FE " WO SEE

Options:

6154753561 1
6154753562 2
£154753563 2
6154753564 4

Question Number : 142 Question Id : 615475915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TF F AW qAET, 7 Egl Heodd F Siaew § 9% § 39 &g ° 9E = 8, WE e mas e
T =l FETH T o

(1)  rge " (2) aitg-u-TREE
(3)  iaE shEm (4) TEFA-T TEAZ E
Options:

5154753565, 1
6154753566, 2
6154753567, 3
E154753568. 4

Question Number : 143 Question Id : 615475916 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(1)  dre A (2) HAEI-T SEIEA
(8) TS~ A (4) E-T TEgg A
Options:

51547535659 1
6154753570 2
6154753571 3
E154753572 4

Question Number : 144 Question Id : 615475917 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FefatEa 5 9 = i =Ee 9 F 9 g = wE A v
(1) =t 5 T sfiqem fomn 2

(2) T TTAAEF geaedl i A T T4 ° 990 2
e r - W
(3) = F AH G 9 e F O W AT BT 7

(4) =T wrEtEE - S Sige siiem F AEcaanl fHvern § fEyEm w U

Options:

6154753573 1
6154753574 2
£154753575 2
E154753576. 4

Question Number : 145 Question Id : 615475918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
it g A fref Fey A A A

(1) =g T, Ti0a Afases o, T-FedT 21 % Tarted It |

(2) g T, T3 Afae T, T-FeA= I B AT "4 9 A = |
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Options:

6154753577 1
E154753578. 2
6154753579 2
6154753580, 4

Sub-Section Number: 3
Sub-Section Id: 61547542
Question Shuffling Allowed : Yes



Question Id : 615475919 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension

Read the following passage and answer the guestions that follow.

The revolt of 1857 was much more than a mere product of sepoy discontent. It was 1n reality
a product of accumulated grievances against the company's administration. a popular
discontent and hatred against foreien rule. The most important cause was the economic
exploitation. the complete destruction of 1ts traditional economic fabric. the impoverishment
of the vast mass of peasants. artisans and handicraftsmen as also a large number of
traditional zamindars and chiefs. As a result of the British land and revenue policies and the
svstem of Judicial adminmistration. a large number of peasant proprietors lost their land to
traders and moneyv-lenders and found themselves 1n utter debt. In addition. the common
people were hard hit by corruption even at the lower levels of admimistration. The complex
judicial system enabled the rich to oppress-the poor. and the growing poverty made them
desperate. The middle and upper classes of Indian society suffered by their exclusion from
higher positions in the admimistration. Displacement of Indian rulers led to the loss of
patronage to the men of arts and culture and also to the religious preachers — panditz and
Maulwnis. who playved an 1mportant role in spreading discontent against the government.
Besides. Lord Dalhousie’s policy of annexations of native states by applving the ‘Doctrine of
Lapse’ was widely resented. Lastly. the conversion activities by the Christian missionaries
created fear and suspicion among the general public.

Sub questions

Question Number : 146 Question Id : 615475920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
From among the following who adopted the policy of ‘Doctrine of Lapse™?

(1) Lord Canning (2) Lord Curzon
(3) Lord Dalhousie (4) Lord Wellesley
Options:

51547535811
6154753582 2
6154753582 3
E154753584. 4

Question Number : 147 Question Id : 615475921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following was not one of the causes of the revolt of 18577

(1) The economic exploitation

(2) Popular discontent and hatred against foreign rule
(3) The faulty judicial system

(4) First Afghan War

Options:

154753585 1

154753566, 2



E154753587. 3
5154753588, 4

Question Number : 148 Question Id : 615475922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct option from the following

(1) Due to varicus land and revenue policies, Indian peasants became rich
(2) British land and revenue policies led to the indebtedness of Indian peasants
(3) The judicial system helped the poor to rise against their oppressors

(4) Traditional Zamindars and chiefs were favourably dealt-with by the British

Options:

6154753589 1
6154753590 2
£154753591. 2
£154753592 4

Question Number : 149 Question Id : 615475923 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following considers the revolt of 1857, merely a “sepoy mutiny’?

(1) Eric Stokes (2) John W Kay
(3) R.C. Majumdar (4) S.N.Sen
Options:

5154753553 1
6154753594 2
£1547535385 3
E154753556, 4

Question Number : 150 Question Id : 615475924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following states was not annexed under the ‘Doctrine of Lapse’™?

(1) Udaipur (2) Baghat
(3) Sambalpur (4) Awadh
Options:

51547535571
6154753538 2
6154753599 3
E154753600, 4

Question Id : 615475919 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehiension
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Sub questions

Question Number : 146 Question Id : 615475920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freaifra O o frae 2=y faga = Hifg = v e

(1) =S H (2) iEF
(3) e seEms (4) =is I
Options:

£154753581. 1
6154753582 2
E154753583. 3
E154753584. 4

Question Number : 147 Question Id : 615475921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

freTlera 5 & #9 1857 = fagiE = ®rw T8 917
(1) == T,

(2)  =HWF FAEAM AR I WA F A g
(3) Al =
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Options:

5154753585 1
6154753586, 2
6154753587, 3
£154753588. 4

Question Number : 148 Question 1d : 615475922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

6154753589 1
6154753590, 2
6154753591, 3
6154753592 4

Question Number : 149 Question 1d : 615475923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

5154753553 1
6154753594 2
£1547535385 3
E154753556, 4

Question Number : 150 Question Id : 615475924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E154753597. 1
E154753598. 2
51547535959 3
6154753600, 4



